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3.

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNO,, NO, N,, NH,CI
(2) HNOg, NO, NH,CI, N,
(3) NHLCI, N,, NO, HNO,
(4) HNO,;, NH,CI, NO, N,

Which one of the following elements is unable to
form N[Fg “ion ?

(1) Ga
@ Al
@ In
@ B

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe

(2) Zn
3 Cu
(4) Mg

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Ga<Tl

(2) B<Al<Ga<In<Tl

(3) B<Ga<Al<In<Tl

(4) B<Ga<Al<Tl<In

Which of the following statements is neo# true for
halogens ?

(1) All form monobasic oxyacids.

(2) All are oxidizing agents.

(3) Chlorine has the highest electron-gain
enthalpy.

(4) All but fluorine show positive oxidation
states.

In the structure of CIFg, the number of lone pairs

. of electrons on central atom “Cl’ is

(1) one
(2) two
(3) three
(4) four

10

50

h

N Gerripruserfian il wimes @ mii@eufleans

2 58nCarhn Hleewsaier aiflensirarg)
(1) HNOg, NO, N,, NH,Cl1
(2) HNOg, NO, NH,CI], N,
(3) NH/CI, N,, NO, HNO4
(4) HNOg NH/CI, NO, N,

Spsa . saflnsdle gl erenm MF{‘?_ <weflenw
o (Heud@ @werg ?

(1) Ga

(2) Al

(3) Im

4) B

aga@dlmanmd ULz snsdd  Garewme,
Spsan_ o Carsngalld oz afarma @RS
uwerL Q&g ?

(1) Fe

(2) Zn

3) Cu

(4) Mg

Qzr@d 13 gaflwrisefiar sfunar igm <y rhsefian
auflenswimang)

(I) B<Al<In<Ga<TI
(2) B<Al<Ga<In<Tl
(3) B<Ga<Al<In<Tl
(4) B<Ga<Al<Ti<In

Spsar_  smpmseia
o gimen Lo uflsbsmev ?

anTURETEERSG eTgy)

(1) erev@mbd @heaDsTy &8 flosms S(HLb.

- (2) a@emd HEARCampdliunEn.

(8) @Carmflen siflswrer sl grear - gHOH®
cremgmedld o anLwis).
4) yesfewer seliss  omasgd  Gpir

- 5fnGahp Hleveew T (Hib.
CIF; w@mwudd, enow agn Cl eder safss
aQes_grer @ seflen erearanfiGensimars)

(1)  germ
(2) @uan®
(3) apenm
(4) preng
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7.  Identify the major products P, Q and R in the|7. Epsan_  deasaar  aflesto  opsdlu
following sequence of reactions : slear@urmerser P, Q wppid R @ sam_dHlued
£
Anhydrous e
AlCI H,CH,CH,Cl —————>
@ + CHyCH,CH,Cl ——————> @ + CH3CH,CHy
+
(i) HyO*/A (i) Hy
P Q R
2 Q . CH,CH,CH;  CHO
CH,CH,CH; CHO - e o
CH,CH,CH; CHO  COOH
CH,CH,CHg4 CHO COOH @) @ @ @
& 0.0
OH
OH ) @ © CHj3 - CO - CHj
CH(CHy)y , :
(3) @ CH; - CO — CH,
CH(CHy), OH
CH(CH,), OH @) @ ’ @ _ CHyCH(OH)CH
4) @ @ CH,CH(OH)CHg
8. Epsar. Gsiomsaild gl avaef_L T Sjwelenw
Eaan'?
8. Which of the following compounds can form a 2 BUTESID
zwitterion ? 1) oiefeSldn
(1) Aniline
(2) <l alaa@
(2) Acetanilide
(3) &evendle
(3) Glycine
(4) Benzoic acid (4) GQuenGemulls oyfleid
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9.  Regarding cross-linked or network polymers,|9. (@pé&ss Osmiy DDy euealilerared
which of the following statements is incorrect ? veLgsmer Gurmss, SpsearL sbhmseld g
(1) They contain covalent bonds between g sflwreang Beveneo ? :
various linear polymer chains. (1) QacCaup Cprlamn( uaug
(2) They are formed from bi- and tri-functional &ma@a@&ﬁmLGu s lanemisear
Clsrarg|.
e (2) Swe Griel LHHID wpbeLd -
(3) Thley cont}a;ixll strong covalent bonds in their AearsQsTES GmUs e o maurEb.
POLREEICRAINE. (3) uveuyg susdafle e euallenoimenr
(4) Examples are bakelite and melamine. s @aTISMET 2 LI
10. Nitration of aniline in strong acidic medium also @ Gufm@?i_' Q i s Goupdlde
- ; e T(HEHIESTL (RaeTmELb.
gives m-nitroaniline because 1 s .
; _ . 0. audlenwibi il oar_Gg 5l <jaieden
(1) In spite of substlt}u_ents nitro group always opL Gromb m-epe Gy iefdlaanyb 56ADS,
goes to only m-position. Gen erafléd
(2) In : electrop}.zi]ic su.bstit].ltion reactions (1) uvddpseesr @EpsCurgb a@plGrm QsmEs
amino group is meta directive. aiGungb m-@ S5 CrradGu Qeagiib.
(3) In acidic (strong) medium aniline is present (2) eosigrer saui  uSHSLE  Aearsafld
as anilinium ion. < 8Gar GzrEd m-euflpL&@Eib.
(4) In absence of substituents nitro group (3) e (cdewndlE) oo ssHd et
always goes to m-position. satdlaflub swellurs Qméeib.
4) uvdd@ser BowrsCurg eplGrr  Asm@d
11. The difference between amylose and amylopectin eriGurgib m-@L s CrrsdGu Qaagyb.
L 11. o fGeradv wHpe ACwrQuiger @eL Cu
(1) Amylopectin have 1—4 o-linkage and 2 eter GeumiLim_merg
1 — 6 o-linkage 1) 1-4a-Qaeniy wpgbh 1—->6
(2) Amylose have 1-—4 o-linkage and ﬂ‘@@ﬂ”uf‘”—'_é‘-f‘:g&?@ LSig e
1 — 6 B-linkage Qanabry (&G _ -
(83) Amylose is made up of glucose and U e a'i@mmui;fi"ﬁ t% _)_6 o
galactose 3) B-@ag‘gmemu.&g-&w ol o&ar;]mqg&@w
ST60 Hnih sTesSLralarme
(4) Amy]ope?tin have 1 — 4 o-linkage and i%@mrrsfu iiu_;d_}&@m
1 — 6 B-linkage 4) 1-4oa-@aweniy wpims 16
12. A mixture of 2-3 g formic acid and 4-5 g oxalic B-Gevaniiant oi8Gar@Lisn ar
acid is treated with conc. H,SO,. The evolved Q& mehrig(HéELD
gaseous mixture is passed through KOH pellets. [12. 2-3 g ummflé <yflon wign 45 g ésmds
Weight (in g) of the remaining product at STP sflon  somes <t HSO0, 2iér  oflaer
will be yfdpg. Gevefloumd eumussellen swemeu KOH
1) 14 dldmasaiar 2dr Geassuubdpg. STP e
Bgaperer ellenar@Limmeflen eren (g) wrang
(2) 30
(1) 14
(@) a4 2 30
(4) 28 (3) 44
: ; 2wl o (4) - 2-8
13. Which gf the following oxides is most acidic in 13. Spsan. as@s@ede a5 QuUbesLTS =SS
nature ? a@mﬁgs&rmmumi_ugj ?
(1) MgO (1) MgO
(2) BeO (2) BeO
(3) CaO (3) CaO
(4) BaO (4) BaO
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14.

15.

16.

17.

Which oxide of nitrogen is mof a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyOs
2 NO,
(3) NO
4) N,0

The compound A on treatment with Na gives B,

and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HZOH, C,Hg, C,H;Cl
(2) C,HsOH, C,H;Cl, C,H;0Na
(3) C,H;OH, Co,H;ONa, CoH;Cl
(4) C,HCl, C,Hg, C,H;0H

The compound C;Hg undergoes the following

reactions :

3Cl,/A Br,/Fe Zn / HCI
> A > B >

7Hg
The product ‘C’ is
(1) m-bromotoluene
(2) o-bromotoluene
(3) p-bromotoluene
(4) 3-bromo-2.4,6-trichlorotoluene
Hydrocarbon (A)
substitution to form an alkyl bromide which by
Wurtz

hydrocarbon containing less than four carbon
atoms. (A) is

reacts with bromine by

reaction is converted to gaseous

(1) CH=CH
(2) CH2 = CH2
(3) CH,

(4) CH3-CHj,

14,

15.

16.

17.

Qupes wHmbd wafls GQeud @ramgemgib
auafioar_wsder 261 LGS SUUHD BLIERET
S s@eDsEner g gam Qurgeuner wreEU(ESES
SlenL_wrg ?

(1) N,O5
(2 NO,
3) NO
4 N0

Gsimob A wrengy Na o ar Geipg B 8 sméps
wppd PCly; yrer C g smépg. B wppnd C

qaprs clemayflibs @Lasdd rssor sHADS.
A, B wpgid C uiler euflenswirang

(1) CyHzOH, CyHg, CoHSCI

(2) CyHzOH, C,H;Cl, CoH;ONa

(8) CyHzOH, C,H;ONa, CoH;Cl

(4) CyH;Cl, CoHg, CoH;OH

Geitwib C7Hg Sppsam. ellmarew yidng :

3 Clgr‘Ab A Brzf'Fe_; 5 Zn;“HCI’_ G

C;Hg
fenar@ummer ‘C’ wrerg
(1)  m-yCurGr@Lmeyeller
(2)  0-yCrnGorGL_reyeder
(8) p-yCyrGonGLmgyeier
(4) 3-4CrrGuwn-2,4,6- LenyECanCrr@Lreyeiles

aant Crramiuer (A) LGrmbeyar LHaSgerme
dAevaryfibg womad LGrmenweL. 2 (Heumd@Hn
siwalGu of e ellemander ppob BHrem&GEE@L
G@paTal  STTUST J@nssmer Gamer. ey

eapl Crrariuems wrHnb e dpg. (A) aurarg
(1) CH=CH

(3) CH,

(4) CHy-CHj
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18. Which of the following molecules represents the |18. @)L fpps euewrs gnssdar &Spsar_ e

order of hybridisation spz, spz, sp, sp from left to eLpe&an Bled spz, spz, Sp, Sp @erdsliL euflanaant
right atoms ? ST (b ?

(1) HC=C-C=CH (1) HC=C-C=CH

(2) CHy=CH-C=CH (2) CHy;=CH-C=CH

(3) CH3—-CH=CH-CHy (3) CHg-CH=CH-CH;

(4) CHy=CH-CH=CH, (4) CHy;=CH-CH=CH,

19. Which of the following carbocations is expected to | 19+ Sps@L sniuedr Gpi swaille ag Hls =i

b okt shakle Blevaliyggenanio 2 el WG erdlumidserDd ?
NOg
NO,
1) -
1
D o Y H
Y H
. NO,
s @) @
(2) Y H
¥ H
: NO,
NO, H
(3) Y
| NO,
NO,
(4) H
(4) H Y @
: Wi

20. -1 U@ efenereney QAUMBSSH SpsT_uDHDE
20. Which of the following is correct with respect to

— I effect of the substituents ? (R = alkyl)
(1) -NH;<-OR<-F
(2) —-NRy;<-OR<-F
(8) —-NRy;>-OR>-F
(4) -NHy;>-OR>-F

arg sflwnang : (R = sydansd)
(1) -NHy<-OR<-F
(2) -NRy;<—OR<-F
(3) —-NRy;>-OR>-F
(4) —-NHy;>-OR>-F
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21. In the reaction

OH O Na*

@ + CHCl, + NaOH ——> @’CHO

the electrophile involved is

@

(1) dichloromethyl cation (CHCl 5)

@
(2) formyl cation (CHO )

(3) dichlorocarbene (:CCly)

<)
(4) dichloromethyl anion (CHCly)

22. Carboxylic acids have higher boiling points than

aldehydes, ketones and even alcohols of
comparable molecular mass. It is due to their

(1)
(2)
(3)
(4)

formation of intramolecular H-bonding
formation of carboxylate ion
formation of intermolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction

Compound A, CgH,,0, is found to react with

NaOI (produced by reacting Y with NaOH) and
vields a yellow precipitate with characteristic
smell.

A and Y are respectively

HyC < ) CH, - OHand I
¢ M- CH, - CH,~OHand I,

(1)

(2)

(3)

@ ¢ ) CH ~ OH and

21.

23.

@ eusllenanrulley
OH O™Na*

@ +CHCly + NaOH —> @'CHO

aOe&l prem seulr aryerilurs FHLHeuZ

@

(1) eL@CemCrr Awsdda Crirsiweafl (CHCly )
®

(2) umiesoed Cpir udefd (CHO )
38) eL@ECamnCrr srider (:CCLy)

<]
@)  oLgCamCm Qusde adi swal (CHCL)
SUELIUL S5aigul PLOEE S 1) Hlenpujent_wl
2 g eman (H&ET, &1 CLrenaer WHmILD
S}, DEQUD TEDHENET STig @b STTUTEETEHl S
sBemssr <ifs Gardilean  yedreflsaer

2 anL g erem erafed @leummled

(1) wppessmda Cu H GDeerriiL o (maursd

(2) srrurseflCGel. e 2 (meureus T

(3) wasamdaier H QenarriiL e meurgd

(4) eungmrLim eumée seuEsl eflens fpeONS
sriurdevmedls — Sjflwsdear  sifls s 1
Bamsssg M

G A, CgH, 30, NaOI wyén eflevarfleugns
oNECord (Y-wreng, NaOH 2 e alenerfpg
2 pusHurEpg) wLHND GG WERFET @iPUIg e
@PLTLgsés Apgu e 5GADS.

A wppid Y wreng) aparpGu

(1 HyC ~{ > CH, - OH wppin I
@ ¢ ) CHy~CH,-OH wppw I

CH,

(3) CHj —@— OH wpgib I
(4) CH — CHg wpmb I
-
OH
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24. Match the metal ions given in Column I with the |24. Qgnsél 1 & Qsr@éscucL = Cans swasmar
spin magnetic moments of the ions given in Qasred I & Gar@ssiulL =asuedsailer
Column II and assign the correet code : sppél srpsdpuusdomiidar Qurmsd o miLd

Column I Column II sipen sflunes EHlsl o CaiplsBssayn -
a. Co* i V8 BM. Asnes 1 dsmsd 11
b, G ii. 35 BM. a. Co* i 8 BM
o Felt iii. /3 B.M. b. crt ii. /35 BM
d NiZ* iv. V24 BM. c. Fe™ ii. V3 BM
v. 156 BM. d Ni* iv. 24 BM
a b e d v. 15 BM
; ; f(-;_ 3 a b c d
(1) iv v ii i 3\ %%c) . - :
(1) iv v i i
@ i e e @ i i i@ v
@ i v i ii @ i v i i
_ , ,_ (4 v i ii iii
(4 - Iy ¥ - = 25. Spsar. swefllselle ez gam d-d wrEssasUL
25. Which one of the following ions exhibits LOHPID UTITSTHSSSHPOLID 2 L WLSTED 7
. st : ?
d-d tranmgmn and paramagnetism as well ? oh CrOi_
(1) CrOy g
(2) CI’207_ 9
g (3) MnOj
(8)  MnO, ~
(4) MnO,
(4) MO, 26. @mby sriuamand, Fe(CO); sy ans)

26. Iron carbonyl, Fe(CO); is 1) preng sm
1 " 1 (2) qeaans s
(1) tetranuclear R
(2) mononuclear @) s s
{?)" ‘Cinuclear 27. [CoClyen))] w@awme; st @b wrHHusder
(4) trinuclear

GUENSILITETE)

27. The type of isomerism shown by the complex (1) auges us wrpHluid
[CoCly(en)s] is (2) siweway wrHHwid
(1) Geometrical isomerism’ () @mwuq Enrrg;gﬁ‘l S
2) Coordination isomerism U et el
¢ X . ) 28. [Ni(CO)y] wimameiler UpQeuell wyenwi: whmibd
(3) Linkage isomerism )

AT e . &S SHEMenLOLITETS)
(4) Ionization isomerism (1) egpsar upGaidd sieoiyy whged Lan

28, The geometry and magnetic behaviour of the ETHSSSemanLn _
complex [Ni(CO),] are (2)  prerapdl ypGesefl ey wame Cur

! di F SMESESEenLD
(1) square planar geometry and diamagnetic (8) praapd LpGaish exeniotiy Hgud CurT
(2) tetrahedral geometry and diamagnetic SNhBSSHEID
(3) tetrahedral geometry and paramagnetic (4)  sgimger ypQeuefl wiepwriy oz Gupr
(4) square planar geometry and paramagnetic STHSSSEELD
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99, Following solutions were prepared by mixing |29. QeucuGam GCadleysafle NaOH oppib HCl g
different volumes of NaOH and HCI of different QeucuCGaum sarejeTelld)  HObE suTA&EsILLL
concentrations : & psme_ saTFOEeTe
a. 60mL ~ HCl + 40 mL Lis NaOH a. 60 mL M HC1 + 40 mL M NaOH

10 10 10 10
b. 55mL L] HCl + 45 mL i NaOH b. 55mL M HCI + 45 mL M NaOH
10 10 : 10 10
M M M M
c. 75mL 5 HCI + 25 mL 5 NaOH c. 15 mL = HCI + 25 mL = NaOH
M M M M
d. 100 mL — HCI + 100 mL — NaOH d. 100 mL == HCl + 100 mL. — NaOH
10 | 10 10 10
pH of which one of them will be equalto1? o genflen pH ayensi 1 6@ swrs QmsED ?
@ - F M b
(2) a IR
3) c @) ¢
(&7 4 d
30. On which of the following properties does the|30. &psan_ aps uarusafld g swealuer Sfigd
coagulating power of an ion depend ? S sniHHGEED ?
(D ‘:‘]he magnitude of the charge on the ion 1) swalden Vs Sierald o (b
one
(2) Size of the ion alone @) ewalden sereild LD
(3) The sign of charge on the ion alone (8) wefl@er Wenseawn @Gplepws LG
(4) Both magnitude and sign of the charge on 4) owelber Warsmn ee WLHYDG  GB
the ion @ ramen_uGw
31. Given van der Waals constant for NH3, Hy, O, 31. NH,, H, O, woybd CO, &5 Gsr@ssiulL
and CO, are respectively 4-17, 0-244, 1:36 and et eumden wrhlelsdr wpenpGu 4-17, 0:244,
3-59, which one of the following gases is most 1:36 wpgid 3:59, Spsan arussaid gl @
easily liquefied ? s ereflgns Sreuon@o :
(1) NHg (1) NH,4
(2) H, (2) Hy
(3) COy (3) CO,
(4) Oy 4) Oy
32. The solubility of BaSO, in water is[32. 298K ffiv BaSO, e seondpan 2:42 x 103 gL,
242x 107 gL' at 298 K. The value of its sigan sariper dumss (K ) wguureng :
solubility product (Kp) will be (Qar@ésuur L BaSO, a@r Gurant flep =
(Given molar mass of BaSO, =233 g mol ™)
_ i 233 g mol ™)
(1) 1:08x10° mol” L 1) 108x 10710 me12 1,2 . } ;
- ’ =19 GF =2 y
(3) 1:08x 10~ mol® L @) 1-08x 1075 mol? L2
4) 1:08x 107 mol® L7 (4) 1:08x 107 mol® L™
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34.

35.

36.

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 0-18 g of water

(3) 107 mol of water

(4) 000224 L of water vapours at 1 atm and
273 K

The * correct difference between first- and
second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2)  the half-life of a first-order reaction does not
depend on [A]y; the halflife of a

second-order reaction does depend on [A],

(3) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(4) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

Among CaH,, BeH,, BaH,, the order of ionic
character is
{1) BeH2 < CaHz & BaI'I2

(2) CaH, <BeH, < BaH,
(3) BaHy < BeH, < CaH,
(4)  BeHy < BaH; < CaH,

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V _ 15V
Bro; 182V, BrO; —Vs> HErO

Br

o652V B2 “Ta;v

Then the species undergoing disproportionatio
iS -

(1) BrO3
(2) BrO,
(3) HBrO
(4) Br,

Epseir_aumdld adle A noadsa misefler

ereenilEms BsLLSIDMl @masn ?

(1) 18 mL $fle

(2) 0-18 g Sfa

(8 107 Gure flo -

(4) 1atm wpmb 273 Ko 0-00224 L 2=
< efludled )

(Pse LHDID @ream_mb cuews Seasaa sMurear

Ceumgium® ererLig

1) wsd aws dAoala
eflenarLi(BHLIG LT mefer
s mEsg; @rarLmbd ewes Seaufer
ellenenGouaib deau@OurEess SsHaa
EN S (&G

2) wsd aws doenddar mer a-sa [Aly
FnipSGEsTE; Gramimd s SHoanfer
ey aimpey [Aly eripdmass

(3)  se eflenerulen
eflemaru® Qurefien Qoderas =rses BE@GLD;
@ramLmo-aiens | fomenier  SeeCasn
aflenarui(® Aunmeflar Qedlenes s=5.25 =E5Tg)

SanarCousid

Setleney

UG SaaGasd

4) wsa GUENS Slareni
dlmaussiuPssond; et  wms
eflenarenw dlmanyssiLBss Bears

CaH,;, BeH,, BaH, gduapfas =wueis

uamdler eufienswirars

(1) BeH, < CaH, < BaH,

(2) CaH, < BeH, < BaH,

(3) BaH, < BeH, < CaH,

(4) BeH; < BaH, < CaH,

EQp oa@er LLzHa sTiguimos  Gume
GescuGeuyy  emf pHUywLw  Edefler
2 &élgGapn  Aeoolld gHuE = SnSens
spSdHle Qanarm_re :

1-82V 1-5V

BrO;, —— BrO; —— HEO
— P
Br “Toeszv B2 “Tmmv
clflss fwsaiss 2 demeh oyl mes
<SG lLh.

(1) BrO;
(2) BrO}
(3) HBrO
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87. For the redox reaction 37. <&EfgCany @Oss d@anurer
MnOj + Czof_ + B — M + CO, + Hy,O MnO} + CZOf -+ H'— > Mn?* 4+ CO4 + HyO
the correct coefficients of the reactants for the @sen oTeTONSSLILLL Fwerumigen  aflenar(h
balanced equation are Qummeflen sfwinear Qapairang
i 2
MnO, C,0; H' MnO;} Czof— H
: (1) 16 5 2 (1 16 5 2
’ (2) 2 5 16 (2 2 5 16
[p (3) 5 16 2 3 5 16 2
t (4) 2 16 5 4) 2 16 5
| 38. Which one of the following conditions will favour 38. &pseL eéG oo @flsu g eflepen@ummeT
| maximum formation of the product in the @eaedmande 2 @mars gHanESD,
| reaction, ;
D | A, (@ +By(g =X, (@ AH=-XkJ? Ay () +By() =Xy (g) AH=-XkJ?
(1) Low temperature and high pressure E; @szg) s @G}g U_ﬂ Glsgvmmmglm -:‘mﬁa& @q@ggm‘
LIt =10 D v} on
| (2) Low temperature and low pressure 3 @%r;i = 2 SeDES
| ;
?; (3) th temperature and lo_w pressure 3) @fs Quiufion LHpbd GEGODHS SIPESID
P ‘ (4) High temperature and high pressure (4) =fs Geutiuflera wHmID 285 SI(PSsD
r | 89. When initial concentration of the reactant is |39. elearuG@ummefia Qgr_&s Qedley
ll.! | doubl_eti_ the half-life period of a zero order @woLkst@bd CUTE, @ LRULmSE afenerull e
& reaction ey QTG STELD
(1) ishalved (1)  urdlurEibd
. (2) is doubled (2) QEoLRSTED
(8) remains unchanged (3) mprg @HEGEL
(4) is tripled (4)  @LLLESIGD
40. hmitb XY ; ; il Dme
40. The bond dissociation energies of X,, Y, and XY X Y2 mm@m_ U_%M &_mm_uu i %ﬂ)m‘a‘)
are in the ratio of 1: 0-5 : 1. AH for the formation 1:05: 1aap Gﬂ&ﬁﬁﬁmrilmm@- XY &([F)E”‘Tﬁf@}
h of XY is — 200 kJ mol . The bond dissociation AH spang — 200 kJ mol™. X, efler Gaeniy
Fi energy of X, will be 9flevs ypparars
A (1) 200 kJ mol ™ (1) 200 kJ mol™
(2) 100 kJ mol " (2) 100 kJ mol !
. (3) 400 kJ mol™ (3) 400 kJ mol™
‘ (4) 800 kJ mol™ (4) 800 kJ mol ™"
| 41. The correction factor ‘@’ to the ideal gas equation | 41. poalLdY ey soamurigd SHE5eS snyanfl ‘a’
= corresponds to @sH©& GaTLyeamLILgl
(1) density of the gas molecules (1) ey gppossmpseiar 155
(2) volume of the gas molecules (2) ey ppessmpseficr sarsiere
(3) forces of attraction between the gas (3) amny wosapsEsdo Gu e safEs
molecules : eflans
(4) electric field present between the gas @ Em” , posmpsE@sdo Cu  QESED
molecules b w
— £
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43.

45.

Which one is a wrong statement ?

(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(3) The value of m for dzz is zero.

(4) The electronic configuration of N atom is
12 22 29 2p; 2p,

Y At

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s? 242 2p3, the simplest
formula for this compound is

1) Mg,X,
(2) MgX,
(3) MgsX,
4) MgX

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fee structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

V3

n =
v2

45
32
1

(3) -

33
442

Consider the following species :

CN*, CN™, NO and CN

Which one of these will have the highest bond
order ?

(2)

(4)

(1) NO
(2) CN~
(3) CN
(4) CN'

4.2.

43.

45.

T8l @O SeUpren s pHm ?

(1) ‘S-gmAC L melléd o @rer Feas_gretlen
Clomss 2L meb Gsra= 2 hgib
LwSSNHE Fowmil o arers.

(2) @m ML e ppeiy Gerar. = S=us6TTd
GHUELLUGEDs ullaps ¢
@m  adhasigrer  prens
eramserTed GHLEGLLILGEns.

(3) d,2 @ mwdiy yhuiomi = ses

(4) N ogn6iphE e arar erlesl srar = oy

152 252 2p)1‘ 2}); 2p§

tol (0 [Pt ]e]

Qusatflud @@ sgallvn X) e & See yips

e <wefll CGsrwswms 2 marsss X)) e
smpflere s greT Siewliuress 1 2s° 2p°
crafler, i&Carngdlen eraflanwimer ame .~ narg
(1) MgoXy
(2) MgX,
(3) MgsX,
(4) Mg,X
2D Qmuuﬁ]mmuﬁ?m @by bee =awiienu

e a@Lwg. 900°C pE Coé =g feo sacludns
rmib. 900°C Wauib
Qmwler oLisd eldgonag (@ mnidar Soremt
fepwd wHMD @ T Qe Saoamw
Cummss LTOTE @) MHLILSTS Cemeam re

V3

m =
V2

443
3V2
1

8 =
{)2

33
42
@euenliLigemer er(n&gdEsTaRTL T
CN*, CN~, NO wppip CN
gl germ iflsorer GeeriLgrdans = e wig ?

<eop detiubleaasEid,

(2)

(4)

(1) NO 2,
(2) CN- W
3) CN
(4) CN*
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46. In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive individuals are less than the
post-reproductive individuals.

(3) pre-reproductive individuals are less than
the reproductive individuals.

(4) reproductive and pre-reproductive
individuals are equal in number.

Match the items given in Column I with those in

47.
Column II and select the correct option given
below :
Column I Column IT
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness ili, Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1) i i 11i iv
(2) 1 iii iv it.
(3) 1 ii iv iii
(4) i iv i i

48. Which part of poppy plant is used to obtain the
drug “Smack” ?
(1) Flowers

(2) Latex
(3) Leaves
(4) Roots
49. Which one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism
(2) Mutualism

(3) Amensalism
(4) Parasitism

50. All of the following are included in ‘Ex-situ

46.

47.

48.

49.

@ BTL_lgar auaT(hld maTsCsTeanasudld

1) @eQumés Hlawule oder puismer il
et @arlumss Hlevwulld edter BUTEHET
2fab.

(2) Qe @arQumss Hleveuler o eter BHUTGEET
. @aQumes Hewulld oder BUTSET
GHDDE.

(3) @elQumss Blevwuld odter pUTEmT 6L
wper QenGumés Hleaeowle edrer BHUisE

Gopey.
4) @eGumss Hleeuld o drer BUTEEFRD (e
Qerdumss Hleweulldr 2 eTer  BLITEEHLD

FLOIOTS 2 GTETEn,
Epsan_aupper sflwrer e ous Casrbts®sis
Qsred I wppw Gared - Qummss awgs :

sawd I geLb IT
a. W GCrm.9&Csageri. UV-B aflir eiés
b. s e Gasram® 1. smflssed
srpeifloses
BriLse
c. uafl BmEe iil. ear’ L i@Limwmer
Wlensenin
d. g LlfEse iv. asifley Goerdran
a b e d
(1) = i iii iv
(2) i iii iv ii
3) i. ii iv il
(4) iii iv i il

urnd Qeguller erps LGH “auGs” erern Gurans
waims swuniés vwetu@Epg ?

(1) wefrser

(2) Gelige

(3) Qewsar

(4) Ceurrsen

wmhshefliueld BergepuLr_né  LO@HHSISEE
swunflés edeumsuTer Qarsbgrms o DnejupeD
uweruBE g ?

(1) emudomanbs 2 na|

(2) uélipspe

3) eflar sifley oL anfl 2 may

(4) U (Hewment 2 pay

conservation’ except 50. JYaneumeuaraupmet ‘Capdl ungsriy’
(1) Wildlife safari parks PEPLIL TS TS| ?
(2) Sacred groves E;i gjﬁmigjgu”m BT
(3) Seed banks @) aes ek
(4) Botanical gardens @) srauredud yiis
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51, AGGTATCGCAT is a sequence from the coding |51. @® daflen  GOlpOD Qaegsa v auflens

strand of a gene. What will be the corresponding AGGTATCGCAT erafle, U CuGsss . mRNA |
sequence of the transcribed mRNA ? e per Qgm e afles sm T '
(1) AGGUAUCGCAU (1) AGGUAUCGCAU
(2) UGGTUTCGCAT (2) UGGTUTCGCAT
(3) UCCAUAGCGUA (3) UCCAUAGCGUA
(4) ACCUAUGCGAU ' (4) ACCUAUGCGAU
52. According to Hugo de Vries, the mechanism of | 52, g{ﬁ%(é&n g offen Lig Lfless pEfe Seudp@®D
evolution is wigy ?
(1) Multiple step mutations (1) ue UgH®® Sefnonpprse
(2) Saltation (2) erwLeyenser
(3) Minor mutations (3) Adlweray SlefiomhOHEISET
(4) Phenotypic variations (4) ypCsrHp rpLTHSEET

53. Match the items given in Column I with those in
Column II and select the correct option given 53. &psem_eupger sflwmer e ees S57205058

below : Qsned 1 wHpd Qsred -8 QueESS « 13518
Column I Column 11 Qsred I QpreS I
a.  Proliferative Phase i. Breakdown of a. @ﬁ@aaa; Hena i orearCLaas Su
endometrial LLeih Sessa
lining b. sy&E@L Heve i, Surdigess Sa®
b. Secretory Phase ii. Follicular Phase c. wrsefimd i, gnigud Sew
¢.  Menstruation iii. Luteal Phase - b o
100 bl M @ @i
(1) il ii i @ i i 4
Cog . S @ i i @
@ @ 1 B oy @ e 4
(4) i iti i

54. (QéreumeiareuHmIET CQprGerm Qs fUhm
54. All of the following are part of an operon except per ¢ ® GsmIuUDDE

agl ?
(1) an operator (1) Qués LT
(2) structural genes (2) <enwlilY LTUE
(3) a promoter (3) Gesweéu(® wILE
(4) an enhancer (4) swisgl wruE
55. A woman has an X—link'ed condition on one of her |55, on  Quemenflgmia X  @&CrGwrGsnd
X chromosomes. This chromosome can be X Gepeniiy GrmipEiu sryaflsar o arar@ga
inherited by ' asmar ADOES s@popuds GupiLaTEE wirfr 7
(1) Only daughters (1) wsaersdr LWL
(2) Only sons (2) O&ETHET oL (Hb
(3) Both sons and daughters (3) ip&ET WHHILD WSETEET
(4) Only grandchildren (4) Gupdereerser wLHD
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56. Which of the following

represents the Jung conditions in asthma and

emphysema, respectively ?

(1) Inflammation of bronchioles;

respiratory gurface

respiratory surface
(3) Decreased

(4) Increased

below :
Column I

a.  Tricuspid valve 1.

b, Bicuspid valve ii.

c. Semilunar valve .
a b c
1) = i i
2 i 331 i
3 i i i
4 i b5 Hi

(2) Increased number of bronchioles; Increased

respiratory
Inflammation of bronchioles
respiratory
Inflammation of bronchioles

57. Match the items given in Column I with those in
Column II and select the correct option given

56.

options correctly

Decreased

surface;

gurface;

Column 11

Between left atrium
and left ventricle
Between right
ventricle and
pulmonary artery
Between right
atrium and right
ventricle

Column 11 and select the correct option given

below :
Column I

-  Tidal volume

., Inspiratory Reserve
volume

Expiratory Reserve

™

volume

-8 Residual volume

a b c
1) il i i
2) iil i iv
3) iv iil il
4) 1 iv i

HLAAC/LL/Page 15

Column 11
i, 2600-— 3000 mL:
i, 1100 - 1200 mL

iii. 500 — 550 mL

iv. 1000 — 1100 mL

57.

58, Match the items given in Column 1 with those in |58.

2L EFIOT WHmib b9 &omeild gienyuiedian

Hlepaents apepGu sMLTS GHuuG T ?

(1) Lﬁlqns&rm&(‘émn@&aﬂm s1pih&l GHUBS®; HFITE
LITLILY GSPDS®

(2) ﬂuné‘rma&@mns‘u&aﬂs&r crefmanti S S
S sMEse; FOITE Liptiy 2S5 NS5S

(3) &euns LTUIY GEDED; nﬂlqnmm&(‘éu_mebaaaﬂsb
sipps gHLOSS

(4) Seumatiugiy 25 5MNSHD;
xﬁiqnsﬁfm&@mné}&aﬂﬁ siph& gHLBE®

SipsaraudDIeT gflwnen e eniid CaibsG5S!

Asred 1 whHmb Qsned -8 QuIEsS THBS

Qsred 1 Qsmed 11
a. apedisp TS i. QL grAwb wHHD
QLsl Qeuekrig MESler
@mi__u.cﬂ@
QU Qouciriy N&Sler
ipHmId @:mmﬁry@ gloafl
GenL 19
c. Sieyeul L eUTeey i, auwg gflubd OHDID

aueE) Qe NS

b. @@eﬂg@ auréa) 1L

@aﬂ-u._uﬂl 6
a b c
(1) i i ii
2 1 iii i
8 i i iii
4) i i1 iii

SipsamaudDIeT sflwnen HepLa@wd Cs 05058
QsnEd 1 wppid Asned 1-8 Qurmsd TWSHIS

Qsned Qs 11
a. ep&seTey i, 2500 —3000 mL

b. 2 eTp&ES srous 1100 — 1200 mL

Caéesd QETETETETE,
C. LD&euNs @5/688 #ii. 500 — 550 mL
QameTenaTay

d. smE Csrareraral iv. 1000 —1100 mL

d a b c d
v (1 i il i i
ii (@) i 1 v i
i (3) iv iii ii i
iii 4) i iv i iii
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59. Nissl bodies are mainly composed of 59. Hevalle o misefld A m LTINS
(1) Proteins and lipids srewrliLi(Heug) ﬁ
(2) DNA and RNA 1) yrsruser wHDL SoE G

(3) Free ribosomes and RER Eg :@fﬂ?@z ;éb umné:i 5 ;;;;__ RER
(4) Nucleic acids and SER @) Husels suflan wigd SER
60. Which of the following terms describe human 60. wafls Lo eHlaTEEE sfse vrea ?

dentition ? (1) 8&Csmmer’, G La »EDL FCEIEE T
(1) Thecodont, Diphyodont, Homodont GanrGLomL_meim_
(2) Thecodont, Diphyodont, Heterodont 2 555@‘5_5”'"”@"" o ua“ (G ses_sger’

. Qe iqGrmmes
(3) Pleurodont, Diphyodont, Heterodont 3)  yEsGTTLTenc, Ny e
(4) Pleurodont, Monophyodont, Homodont QanL g Crm_meir’

(4) Ié@@l]l‘i’LﬁGﬁTﬁ., CureamauGoT. sa,

61. Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are|gj,

GapmGLommer

e > meunss Le @rGurGsmbss i:._-hf mRNA ajLen
(1) Polysome @enemyld. SSFHSL Qe o= ~Cambaefier
(2) Polyhedral bodies Gluwif

(1) wredlGerbaer

(3) Nucleosome :
(2) ured@apl gé 2 mULise

4, | Flastidome (3) AuseiGurGsmbadr
62. Which of these statements is incorrect ? (4)  Qermevig GLmbseTt

(1) Enzymes of TCA cycle are present in|62. (Gereud amppseiler sauprang a& ~
mitochondrial matrix. (1) TCA sppdller Qprasdr eoinL L mamamg Mlwm

(2) Glycolysis occurs in cytosol. r_M&edléd o eTerg).

(3) Oxidative phosphorylation takes place in @) Soasdlfsn esGLrsmele .5’55"3'5_3 8-
outer mitochondrial membrane. (3) up @wlLrsramgflur saefle sSEILI e

unevuriGeaget HlsD.

(4) Glycolysis operates as long as it is supplied

with NAD that can pick up hydrogen atoms. @) eaplygdr @SS IOHS NAD' 4se&

B m&E@EL ey Haersrallflen S=o0

63. Which of the following events does nof occur inlgs., Geraumd aps Hape Gem@sTyie il GG

rough endoplasmic reticulum ? aimadarade (RER) Aspadsias
(1) Protein folding () yrs by ‘

(2) Protein glycosylation (2) urs HearGarélenésd

(3) Phospholipid synthesis (3) wumewCurdllia® eeursss

(4) Cleavage of signal peptide @) Ehlos Guie (Gsefiar Se=

64. seaprs QuIBHSLETer Geemas 3553650 -
I (1) GUFFL'DLJIE}UGiU - mifaw T

64. Select the incorrect match :

(1) Lampbrush — Diplotene bivalents @GTGIonGsnibseT e Caaadser

chromosomes : - wr
. (2) oCarGamibaser < wyw

(2) Allosomes — Sex chromosomes = 3T CEmbseT

(3) Polytene — Oocytes of amphibians (8) wumelledn - @sarglsaiar
chromosomes &CyrGrGembaer smas 5SS

(4) Submetacentric — L-shaped chromososmes (4) & QuiLrQsangfs - L- ama
chromosomes @&CrnGrGembae sCarSasCambd
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5. Which of the following is an amino acid derived |65. =ufCarm SiflwsH®HHS! QemeTyLiLL L
hormone ? apmiGures ergl ?
(1) Epinephrine (1) ernQpesLife
(2) Ecdysone (2 RS
(8) mevigenrGuimed
(3) Estriol (4) meigyenLGuimed
(4) Estradiol
66. GemeumelaaubmieT hs iUy DiGET
: ?
s6. Which of the following structures or regions is @*“J(;‘“’”(B pauprs QuIGHELTETS
incorrectly paired with its function ? (1) Qupoar  saunsid pQId Snia LT
sueuGsiLr  ardGrT siaflFensaemarn
(1) Medulla oblongata : cox:ltrols le:espirat;on s QLLESEEDS.
::ﬂeia; gRAR AT (2) Awds GsrEd : apenemudes L LGHsa
' Gevamé @b Bt
(2) Limbic system consists of fibre FHEOPSEET
tracts that QsrangmsED, QUes
interconnect QeLdseaT
different regions of ¢ s -
brain; controls s_GLLBSSID-
movement. (3) smiuey sGwrsb @ Qg LHDD QL sl
Qu(mepenar
(3) Corpus callosum band of fibers -

A : sarCaTearhisemar
connecting left and e~ )
right cerebral Qevans@EDd BT SH®DEET.
hemispheres. (4) eapuGurgemoe: &TUY anmirGiorengeaneT

- - G 3 G . -
(4) Hypothalamus production of a-plgip Gl v =
: uél wHHILD STEHEDS
releasing hormones ST,
and regulation of ErLOESID-
temperature,
hunger and thirst. 67. ey GunGumyélavadia sy LG wHEGD
67. Which of the following hormones can play a apmiGoner agl ?
significant role in osteoporosis 2 1) apdLrevigGman LHDD LCrrenési ér
(1) Aldosterone and Prolactin @) UGrTQgevi Grma oHHID sy L e Grmar
(2) Progesterone and Aldosterone (8) ummesyTL® i GLoe DI
(3) Parathyroid hormone and Prolactin L Crranéig 6
(4) Estrogen and Parathyroid hormone (4) rrevigyeRen WHDHID umyreosrmi® aprrGuore
68. The transparent lens in the human eye is held in |68 w&fi5 samsefio soter gofl ea@eyd eldma
its place by oigan Poauld aser (pad ApssiuGaDs
P . e
(1) ligaments attached to the ciliary body (B o ggu(_ﬁuw@ QearHGES?
eva 6 e (REeT
(2) ligaments attached to the iris (2) mfavGsr® Gevar Sl (HESD eN&@ e (H&seT
(3) smooth muscles attached to the ciliary body 3) &auf wugun@ GeampHOEGD
Quanglasser
(4) smooth muscles attached to the iris 4) ggflevGen® BoanpdHE@GD Quoengasser
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69. Which of the following animals does notf undergo | 69. GemaimeuaTeubpieT  euant o porHDh  Hepns
metamorphosis 7 Paws ot g ?
(1) Earthworm (1) e
(2) Tunicate 2 wuefGsl@adr
(3) Starfish (8) pLesdy Ben
(4) Moth (4) <psl 4ss
70. Which one of these animals is nol a 70. Garapaaapper Gaiu G155 SynanflwpHo
homeotherm ? feonid el ?
(1) Macropus Q) wréGyrued
(2) &£Camerr
) TOkeeone (38) A Lma@er
(8) Psittacula (4) Cs@weaed
bl Carciue 71. e syruTeTYFSlEET OIS Quer  STULITe
71. Which of the following features is used to identify ysflaenar GTULGTLSET (pOb Sa L Sasemd ?
a male cockroach from a female cockroach ? 1) Y-aug elpy s e 5 kel
(1) Presence of a boat shaped sternum on the @1 fremd 2 eTaTSHIe
92 ahdominal segment (2) eume e o dTaTEHTed
(2) Presence of caudal styles (3) weLIL@ps QETDLEET 2 EaSTE
(3) Presence of anal cerci @ Q'pé-r @Q @eeflan  Ausflam  SEOOUTE
(4) Forewings with darker tegmina | s
72. Which of the following organisms are known as 7?' Gu@ﬁm&‘—?&aﬂm | apiiu spugpLaTTE §
chief producers in the oceans T G Luﬁmﬁm Grg? ; )
(1) Dinoflagellates (3 m_(_gm[f" @mngamcml_@&d{
(2) Diatoms e
) (8) wsetarmiBHiser
(3) Euglenoids (4) swuGamunseflursser
(4) Cyanobacteria
73. dp L;Gr;m'_(ﬁl_rr@&rrmrré;asaﬂeﬂ@g@ ESCGu_(paer
73. Ciliates differ from all other protozoans in asaTraEsTd CapLdsdper ?
(1) using flagella for locomotion 1) @LOuwiessns Baflaipsaner Lwidn LRSSID
(2) having a contractile vacuole for removing 2) Hevs Heoy QeuafiGupD =G=S maT@SOID
excess water Quip b HSED
(3) having two types of nuclei (3) @uar® cuaawiner o ' smear SuDHHHED
(4) using pseudopodia for capturing prey 4) Qegew Qg uusHE LTl STESEET
e (gD
74. Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive | 74, Q& fmes InaTL_@Hle Safiveu LHmD
system. S@j@alieU®U 2 @l (pedsgbdsd gl ?
(1) Amphibia (1) @@@n@@ﬁ]&;m
(2) Reptilia (2) eerfreuen
(8) Osteichthyes (3) pevesSev
(4) Aves (4) geus
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75.

76.

7.

78.

79.

Among the following sets of examples for|75.

divergent evolution, select the incorrect option :
(1) Forelimbs of man, bat and cheetah

(2) Heart of bat, man and cheetah

(8) Eye of octopus, bat and man

(4) Brain of bat, man and cheetah

Conversion of milk to curd
nutritional value by increasing the amount of

(1) Vitamin D
(2) Vitamin A
(8) Vitamin E
(4) Vitamin By

Which of the following characteristics represent
“Inheritance of blood groups’ in humans ?

a. Dominance

b. Co-dominance

¢.  Multiple allele

d Incomplete dominance
e. Polygenic inheritance
(1) b,cande

(2) a,bandec
(3) a,cande
(4) b,dande

Which of the following is not an autoimmune

improves its |76,

1.

78.

disease ?

(1) Psoriasis

(2) Rheumatoid arthritis
(3) Vitiligo

(4) Alzheimer’s disease
The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Homology

(2) Analogy

(3) Adaptive radiation

(4) Convergent evolution .

In which disease does mosquito transmitted
pathogen cause chronic inflammation  of

lymphatic vessels ?

(1) Elephantiasis

(2) Ascariasis

(3) Amoebiasis

(4) Ringworm disease

79.

80.

fiflae uflemrmosSnE Qar@ésuulL

ahsgseT.(Hseled sapraTS TS ?

(1) weaflger, eueuaTEIT® ohmib Esgmedlen
(pETETaISHTED

(2) eudiemeurd, waflger WHHLD Esgreflen @ D
(3) Bl LIGD, QueLaTaUTED) WLHMID wegefen sar
4) eucianeurd, weflsen whpb Ebgrelen ppaar
unéd sulprs wrgib CUTg DS oari’ L &5 WHLIL
ehs eeul L fler sieTey 2 witeugmed SiHsNsEEDs)
(1) eefler D

(2) eweulLiflen A

(3) eoaulLfarE

(4) evaulL1fér Big

waflsaflar @IS urpbufugens  sflus
AarsGeug gl ?

Hleop Cuiriised

glanam GUITRISED

L& GG ieSaaer

G@nGUNkiS®

U wyugy Lrpbuflub

o po TP

(1) b,cwpmbe -

(2) a,buppbec

(3) a,cwppbe.

(4) b,dwppide

Qeneumeuamauppiet o5 B erdiry’
2jsve0 ?

(1) Gerflwréla

(2) Aorimi® g ferigen

(8) el igelGam

4) ofwir Gpmi

Gpmi

g Qsgbdsafien (PHTRTRSTESEIT 6T
ergbueoLIile 2 6TaT @OHMIGHL aTHHES
aTBE5ETH ?

(1) CGapmoreg

(2) semeg

(3) sl uTale

(4) @Eelfere LiMaRTTon

e GHmU Qanaedlermed sLSsULHD
i esr ey ud fludlermed e prevfisefi® praTUCL
< ppé gpudsEEDS ?

(1)  eredle-Gueniguinélav

(2) sevsrilunélen

(3) sbeuwndlev

(4) Aieumbd Corw
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81. Match the items given in Column I with those in | 81. BipserLaiHHIET sflwren AevLaug CsrpEs0SS

Column II and select the correct option given Qsrad 1 wpgid Qsr@d 11-8 QumrrsS TS
below :
ol Qsred 1 Qsnsd 11
Column I Column II

& SaeGangfum q. apr(seiie wils
a. Glycosuria i, Accumulation of uric sifien Casd {
acid in joints

@5 @sar gy SpBresddEeT
b. Gout ii. Mass of crystallised SrETLILGD 6
' salts within the kidney |
Liig SLomer 2 CIL|&ET
c. Renalcalculi iil. Inflammation in )
glomeruli 6. N srdG®e g g ls.. GCaTTOEH@ETLIE
HLGD sphé
d. Glomerular iv. Presence of glucose in THUGD &P !
nephritis urine . @Garmoener 4d. Spffe sE@sGaned
Q& b & d QpesLiflLig el o grerg
(1) iii il iv i a b c d
(2 1 ii iii iv (1 i iv i
(3) iv i il iii 2 i ii il iv
(4 1u in 1 v (3) iv i ii i
(4) i jitl i iv

| 82. Match the items given in Column I with those in

Column II and select the correct option given
82. &pseamaubpier sfwner e ews Cspbs058)

below :
Cotiziin I Column T Qsr@d I wppd Qsned 11-8 QunEss (B3!S
(Function) (Part of Excretory Qs 1 Qsmad 11
System) (Qeuiser) (shley
. . . BesCan@suden
a.  Ultrafiltration i. Henle’s loop L)
b.  Concentration ii. Ureter a. mieT eulgsllg i. Qapersd aemeray
£ uri
GRURES b. AmPfer oifef i, WGl
¢.  Transport of iii. Urinary bladder
arine c. Syt s psliLBE® iil. Ambi et
d.  Storage of urine iv. Malpighian d. &y Gasfliy iv. Wm@e st Agluien
corpuscle . srirGlaa
v. Proximal V. (pgenen
convoluted tubule auepen @GP
a b [ d a b c d
(1) iv v ii i 1) v v i i
(2) iv i ii iii (2) iv i i il
3) v iv i iii 3) v iv i ii
4y v iv i ii 4 v iv i it
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83. Hormones secreted by the placenta to maintain
pregnancy are

)
(2)
(3)

(4)

hCG, hPL, progestogens, prolactin
hCG, hPL, estrogens, relaxin, oxytocin

hCG, progestogens, estrogens,
glucocorticoids

hCG, hPL, progestogens, estrogens

84. The contraceptive ‘SAHELI’

(1

(2)

(3)
(4)

blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.
increases the concentration of estrogen and
prevents ovulation in females.

is a post-coital contraceptive.

is an IUD.

85. The difference between spermiogenesis and

spermiation is

(1)

(2)

(3)

(4)

In spermiogenesis spermatids are formed,
while in spermiation spermatozoa are
formed.

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

In spermiogenesis spermatozoa are formed,
while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules,

In spermiogenesis spermatozoa from sertoli
into the
seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

86. The amnion of mammalian embryo is derived

from

(1)
(2)
(3)
(4)

ectoderm and mesoderm
endoderm and mesoderm
ectoderm and endoderm

mesoderm and trophoblast

84.

85.

86.

spappe® LTmoféss Qerraen_meured &rssliu{D

ammiTGL renseT Wrensy ?

(1)

(2)

(3)

(4)

hCG, hPL, LGrrGgev GLrger,
L Grmevimé g 6l
hCG, hPL,
215681 GLréler
hCG, LGyragevr GLmge, FaViq a6,

revlgrgger,  Meorssler, <

B\e5&CamaTi iy STl &se
hCG, hPL, q@qn@gsﬁn'_(ﬁurgém FF iU Lg. (7 SR 68T

‘srGaned’ erenn SHSS®L FETHEND

(1)

(2)

F(HLILITEIETET e TR ghlseaner
wapss sHELoL Ufusos s0EDS.
Quensefled ey FEe SieTenal 2 8&M 58
siem_Gsé Qaueflursme sO&EEDS.

(3) yewis@éE Gar LweTLBSSIUGBD
&H(BHSSE|_ FTHELD.

4) em IUD.

eo@unACuromeifavasEid

OUMACUesEIEED GenLudd 2 erer

Geugir@ser agl ?

(1)

(2)

3

(4)

LIT@TL g STl 6h

AUMAGUTERalfaveia vbumomiHeer
2 (meurdleTmen; @ umMAGwagee
ev@uirnL LT Ceraurssen 2 (meurdlenman
ev@unAGLrQmeaifavedic
ev@uiior L TCFTeINESHET 2 (HeuTslarmen;
QunfCuasaiia ev@uiroriiy(hae

o (Heundlenen

@uMACGuTQgeiéeverd &
QUL L TGETaUTESET 2 (heuTdlemDe,
av@unfCueasefie av@uiol GLrGsmeuréser
QaflaflsQure Gnaiaar
Qeuefui i Slermen
QunACurQgaidevadle QarGLmedl
Qsasaiedmbg dv@UTLL GLrGameunéser
Qadlafl.Cure Gweaflger

Qeueflufi LGS eper; suQumnfCuageied
G@uior CLrGsmeunsaedr o (meurdlerner

&(mEdlgaTeT <y baflwimes

areudmledmba) Qsrarriu@Hng ?

(1)
(2)
(3)
(4)

a&CLTGLMD whpbd BCHT@LTD
er@mGLIQLiD wpmib BGeELTD
eraGLTALTD Wwpmid ererrGLrblLib

BCar@Lind whmd GCyTGumiermenl
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87. Which of the following gastric cells indirectly |87. efigGrrGumuélevss LOGD(LPEHLDTE 2 &b
help in erythropoiesis ? srevl_fé Qedasar etg ?

(1) Chief cells (1) &0 Qesdr

(2) Mucous cells (2)  Blyssd Aedser

(3) Parietal cells (6 HE e Siedar

(4) Qsmiwl Qedsdr
(4) Goblet cells
88. Match the items given in Column I with those in |88. &psamLcubgier sAlwrer el owus Caibbsbés

Column II and select the correct option given Qsred I wppbd Qsr@d [I-g durmss aWes :

Bl Qsned I Qsrsd 11
Column I Column I1 a. SeutifiCarmger 1. yevomys swalow
Fibrinogen i,  Osmotic balance b. @Garmafien ii. @ssh 2 epsed

b.  Globulin ii.  Blood clotting ) R K2 L) QiR

c.  Albumin iii. Defence mechanism a b ¢
a b - (1) 1 il i

(1) i il i (2) 1 il iii

2 i i it (8) ii iii i

@ i il i 4) i il ii

4 i iii ii 89. a@ub &@F HFHREIEGSND STOALDL WL LT

89. Calcium is important in skeletal muscle adsdpg glaafis

contraction because it (1) &CrrGunefiguer Qeemps.

(1) binds to troponin to remove the masking of o éﬂ_ﬂu'.—m’@g@& ouCurdgissrer
active sites on actin for myosin.  Gswedpar LGaamar QeuefLiL@ a5

(2) activates the myosin ATPase by binding to (2)  ewGurélar ATPase s Qevanps Gsemer
it. " Qsweu®ssSng.

(3) prevents the formation of bonds between (3) QuCurfler Gm&E Qerenriiy wLHHID &g e
the myosin cross bridges and the actin @eysaialanL Cu gHuBD SamerTiisemar
filament. HREADS!.

(4) detaches the myosin head from the actin @)  eowCuriar sooemu Sdse
filament. Beysaiamig GNsEDS.

90. Which of the following is an occupational 90. GerampeEappe a5 Qsmid Gsm_tuner sains
respiratory disorder ? Gararmyp ?

(1)  Anthracis 1) apdomdev

(2) Silicosis (2) HeGarflen

(3) Emphysema (3) erunb&ior

(4) Botulism (4) wum_(@eilsb
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91. Oxygen is not produced during photosynthesis by [91. @eupflar gafléCaisemauder Gurg psellger
(1) Green sulphur bacteria GauafludLiu@eudleveney
(2) Nostoc (1) wusew sour urseflurssear
(3) Chara (2) prevLrs
(4) Cycas Ei; Z;U;du
92. Pollen grains can be stored for several years in 92. Hra P oBIBEEEEEaT -
liquid nitrogen having a temperature of aycn@est Cellsg oaiss Quad i Hreu
(1 -120°C enplrmafd Qeutiu Hleane
(2) -80°C (1) -120°C
(3) -160°C (2) -80°C
e
93. In which of the following forms is iron absorbed 93. Bpsar_apfler s Herwsaiés @i
by pliags £ sreurhsarmd SrfssiuGEng ?
(1) Ferric 1) Quis
(2) Ferrous (2) Gurmev
(3) Both ferric and ferrous (3) Quirflé wHpib Guiryen @rem@Hin
(4) Free element (4) s_(BpT geflod
94. Which one of the following plants shows a very 94. SpsanL  aps  STATRSEHET Q. 2ip&I
close relationship with a species of moth, where uEfluder @ ApPlansgie A tiHus Qg
none of the two can complete its life cycle without Qﬂr_@“‘“@)uug’mﬂm' qanflanl S Aprérn  sang)
Keacbivor ? ampses sphAeawu Hapey Cslw Guevns ?
(1) Hydrilla (1) mgr)ﬁ;ﬁsi:wn
(2) Yucca (2). b
: ¢ (3) eeuGumrer
(3) Viola 7 R
o i 95. Qsd saurdlsseled NAD* er uki@ ererer ?
95. What is the role of NAD" in cellular 1) =i o6 Aprduns AsueLBEDS.
respiration ? 2 @ig eQaslyrer sLsHuns QsuaduBSps.
(1) It functions as an enzyme. (3) < smpoer surssHd  soLflow
(2) It functions as an electron carrier. erQegymerr bl
(3) Itis the final electron acceptor for anaerobic 4) =g ATP surfiude e HuselGureLd
respiration. pLpeoLh.
(4) Ttis a nucleotide source for ATP synthesis. |96. @rieLé sGHanSS cTeTLg
96. Double fertilization is @ m&wja(?& @EQG.&&T ; e il SRR
(1) Fusion of two male gametes of a pollen tube @) gg Gﬁ@fwéza;@l_i é%]mmg:f sja
with two different eggs e
(2) Fusion of one male gamete with two polar 3) oawewure sEunsd (HaGss) wHmID
nuclei apeflavamral
(3) Syngamy and triple fusion @) @m e @as Qsoser i DETLSHLET
(4) Fusion of two male gametes with one egg @eaeug)
97. Which of the following elements is responsible for | 97. &psan_eubpier assafiod  Qedsefle  eflevply
maintaining turgor in cells ? ugmofuer QurpuCupélipg ?
(1) Magnesium (1)  waafHud
(2) Sodium (2) Gemguibd
(3) Calcium (3)  sroélun
(4) Potassium (4)  Qumiiméuwid
HLAAC/LL/Page 23 SPACE FOR ROUGH WORK English/Tamil

N

*.".I‘!



98. The correct order of steps in Polymerase Chain |98. urdloCrev  smdles  elmander (PCR)  uig
Reaction (PCR) is Hlevesafler sflurar euflams
(1) Extension, Denaturation, Annealing (1) Srdupsed. QuaLslassd, LsaTHDS
(2) Annealing, Extension, Denaturation (2)  usamppe, BrAypsed, Guoyfmsse
(3) Denaturation, Annealing, Extension @) QuoLdmssd, usemDDS. SLELDED
(4) Denaturation, Extension, Annealing 4 Guousossd, Erélupse. upemDDE

99. Select the correct match : 99. sAwrsc QuiGssliLlL @56 CanplsBéseid
(1) Ribozyme — Nucleic acid (;) ?Uguwm&'m o B %5@5 c’q”‘qu‘b
(2) F,xRecessive parent — Dihybrid cross @ @2 ; G‘:’;@_E@IJMH - Bouen sely

Ld mir
3 G M.endel — Transformation (3) G. Gue& Quanmpid
(4) T.H. Morgan — Transduction (4) T.H. wrisrer - pemefieL wrppb

100. Use of bioresources by multinational companies 100. uerami () HpeueTksd g@er [Friigen o udf
and organisations without authorisation from the aieThiseeTyD, B és@meTwh GTLfiLeLw
concerned country and its people is called ‘F_F;ITI'_Lq_G.iﬂ l&@;mﬁuﬂ@x@ LweruBsses Qe
(1) Bio-infringement S@ésLGADS
(2) Biopiracy (1) oullfrent sisgibpe
(3) Bioexploitation 2) euisrt SO0
(4) Biodegradation (8 -Saliraat apshiias

(4) effsarme Sengssd
101. In India, the organisation responsible for . . . = oo
: X ; : 101. @pHlwmelie, LYW IHDLD Qe L
assessing the safety of introducing genetically : . ) . j
: { . ; o Gflasefar ungstueu wHSE  Cdsaug
modified organisms for public use is . . R : i
J Qurginssefier LWL 4HES SHDEPSD Gl
(1) Indian Council of Medical Research (ICMR) QurpiLy audsEb Hpeuerd
(2) Council for Scientific and Industrial (1) @pdunellen L@msIol HITUESS  GHQLOL
Research (CSIR) (ICMR)
(3) Genetic Engineering Appraisal Committee (2) eiflefiuc WwHpId Cgmlpert  plia|ssTear
(GEAC) G (CSIR)
(4) Research  Committee  on  Genetic @ o Quridud wBuSE (s Gw (GEAC)
Manipulation (RCGM) (4) wgyd Quimgnér DEUTEHEUSDHSSTET
o rriisdls @ (RCGM)

102. A ‘new’ variety of rice was patented by a foreign _
company, though such varieties have been |102. @ U <flf pab g Ser sred Qibshuneied
present in India for a long time. This is related to o arerGugd @@ Qaefipri@  Hlpeersstd
(1) - Co-667 amtiyflenw QupuLL(erargl. il
(2) Sharbati Sonora g) 0'0'6678 &

(3) DBasmati ) i ey
@ L Roi (3) unawd
SR (4) Qeorriom Crmggm

103. Which of the following is commonly used as a - o _ ) o
vector for introducing a DNA fragment in human 103. Bpsar_apper wefls SbGUTDSsL Qsadlled @@
lymphocytes ? DNA giain.sos 2L Qs@iss QUrgens LwieTLIBih

3 sLg8 eg ?
1) Ret :
&) ? I‘OV]I'l:lS 1) Q- Gryreneurev
(2) Ti plasmld (2) Ti LS]GTTFTG‘IUL[S]@
(3) pBR 322 (3) pBR 322
(4) X phage 4) rGug
HLAAC/LL/Page 24 SPACE FOR ROUGH WORK English/Tamil




104. Plants having little or no secondary growth are 104. @gemLmbd Hlene aetiEdou APu  sereliGar
(1) Grasses idaz pHHigd @oaroGen e arer STEUITTBISET
(2) Deciduous angiosperms (1) ypser = o
(3) Cycads (2) @eeoudi usEd srayriser
&) Conif (3) enoslsa
S (4) CaraflLuiser
105. Select the wrong statement : _ = _ _
(1) Cell wall is present in members of Fungi 105. gaprs sH®D CaiipEsBEsad -
and Plantae. (1) uEpeeser wHEID QerrarGL & weuDDIeT
(2) Mushrooms belong to Basidiomycetes. Gg?é_ﬁmw a’_‘;ﬁm@ o )
: | (2) prusESE STETTETSET Guéhq,@u_irra)m&_
(3) l}flltoch(?ndna are the powerhouse of the cell aEn@L Coipsoal.
in all kingdoms except Monera. i ] ;
j . (3) QGueafyr gellids OO Cuesetle
(4) Pseudopodia are locomotory and feeding ol CLaTanL fMukisdr Gladaer < HDE
structures in Sporozoans. O LOWIRIGETTS 2 aTeTé.
106. Secondary xylem and phloem in dicot stem are (4)  eCurGym yaurssaia QuITiEsTOSET
produced by @Lu@uwie) WO o amahl L
(1) Apical meristems _oEnLDLIL|BETTE 2 ETarelr.
(2) Vascular cambium 106. @@eisHoes STETS pamge Grekrmib Hene
(3) Axillary meristems ﬁl}&mm ﬁﬂm_ “gm”mm 2 HUrEGS
(4) Phellogen L o .‘%a;aag, Q&_ .
(2)  cunev@TT 2ESHEE
107. Sweet potatois a modified (3) Ganawr 56555
(1) Stem (4) ULl S
(2) Adventitious root 107. sisseeudais Sipméld LIHDHGATS @ muug
(3) Rhizome 1) s
(3) wrL fegsan® :
108. Pneumatophores occur in (4) apenfl Gaufr
(1) Halophytes 108. seuns Cauitser sremiUBUS)
(2) Free-floating hydrophytes (1) sguy Heg srermser
(3) Submerged hydrophytes (2) sailsg BSEGD BirsSTeTTRISET
(4) Carnivorous plants (3) appdu sHlee BB TeuTHIST
(4) ysduyaamid STEUTHISHET
109. Which of the following statements is correct ? W ! y '
: _ | 109. Spaeir sppiseia sflurang agl ?
(1) Ovules are not enclosed by ovary wall in (1) g\m(%amrﬁiu@uﬁrmmﬂ@ EOEET GBS
A . souflanmd @priLLeloame.
(2) Seia,ginetla is heterosporous, while Salvinia (2) GsargdCader GrHse auemsLD
is homosporous. srdeiaiun @EHAS® eSO 2 dTeTeT.
(3) Stems are usually unbranched in both (38) eesev wHgD CELreD < Alw GreTigeId
Cycas and Cedrus. seT(HaEeT Qungleursd eﬂwmg;@@uu;ﬂmmm.
(4) Horsetails are gymnosperms. (4) (@Seoyeured Quyenflger cremienay
) ) . Db Canmad@UTDEET @Al
Ho. Casparlzfn stn'ps DEUUE SR 110. srevumflwer U@L &eT srewriiu(helgl
(1) Epu_iermls (1) uynsGsmed
(2) Pericycle (2) Qufiessdler
(3) Endodermis (38) =85Csme =
(4) Cortex (4) uypenfl
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111.

112.

Offsets are produced by
(1) Meiotic divisions
(2) Mitotic divisions
(3) Parthenogenesis
(4) Parthenocarpy

Select the correet statement :
(1) Franklin Stahl coined the term “linkage”.

(2) Punnett square was developed by a British
scientist.

(3) Transduction was discovered by S. Altman.
(4) Spliceosomes take part in translation.

113. Which of the following has proved helpful in

114.

115.

116.

117.

preserving pollen as fossils ?
(1) Pollenkitt

(2) Cellulosic intine

(3) Sporopollenin

(4) Oil content

Select the correct match :

(1) Alec Jeffreys — Streptococcus
pneumoniae
(2) Alfred Hershey and - TMV
Martha Chase
(3) Francois Jacob and — Lac operon

Jacques Monod
(4) Matthew Meselson
and F. Stahl

The experimental proof for semiconservative
replication of DNA was first shown ina

Pisum sativum

(1) Fungus
(2) Bacterium
(3) Virus

(4) Plant

Which of the following flowers only once in its
life-time ?

(1) Bamboo species

(2) Jackfruit

(3) Papaya

(4) Mango

Which of the following pairs is wrongly
matched ?

(1) Starch synthesis in pea Multiple alleles
(2) ABO blood grouping Co-dominance
(3) T.H.Morgan Linkage

(4)  XO type sex Grasshopper

determination

. Bpsar_cuhnIeT ETHSSSISTSmaET

114. sflwnst QurEsSyaraes CasrbosBaaab

111. ‘g luQe’ Hser @sermd Garemmidma

(1)  G@Dd LGULSET

(2) (@MDTD LIGLILSET
(3) smeaypT ParsGsrHmb
(4) smeypTs SIS

. eflwnen sapeopn CoTHEsHESEID :

1) “Qevemii” aamm Qerders LIRSS LG
Sgrisafie duGLaned.

(2) yenerl sgiTb @ G igey Sidlefluie
<iPlEHTTE e (HeuTssliuLL gl

(3) pemafloL wrHpsos s&Td iy Sseu
S. ér Cuoerr.

4) evtimedGurGambasr U OGLIwrSid
FE(ILL (B8 6o e,

Qaréuigionrs’ GuaieFed o geilyfluyb ererLiens
PoIsss ag ?
(1) Gumeerdl
(2) QewgGameumed 2par &2 |
(8) GurGrm@uréedefier

(4) ererQemni GlEmamig(HrLIg

(1) s Ggs.ufle - el QLG rEr&sen |
ﬂ@mn@ﬂﬁw
(2) oyodr Qaniedl - TMV

whmyid wriggsr Gaev
(3) wpmensmiey Gl
whob Cgé e
(4) sy, Wewsea LHNID - @LFD FLPLAID
F. cvGLaméd

- QImé @uUITTEn

. ud urgsrssiulL. DNA peOTEsSSl6M B lalE

srenm (WPEeld SPLILCL g THe g4
1) yeroms

(2) ursefwb

(3) enalgev

(4) smeupd

. SpsarLcuhner STl aumppraiier @Gy @@ WwoR

WL Wweieug &g 7
(1)  ppadled Sbfland
(2) wer

(8) wuiurefl

(4) om

117. &psen. Geamsaid sapred QurmSSILLLE

agl ?

(1) wiLmeelufien
s 2 HUSS

(2) ABO @ugs cuens : Qenenr @ra@GgeTano

(3) T.H. oniasmer . Qenemriiny

(4) XO euens umed Hlirewruibd : Qaul_Hédlad

© Ll () eeladser
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118. Winged pollen grains are present in _ 118. ApGoLL wsTHsEEsTsH sTaTILBS
(1) Mustard 1) 566
(2) C_ycas o | g
Ei; :;nuso (3) enuare
s (4) om
119. After karyogamy followed by meiosis, spores are|119. evGuriger srACursml QsrLiibs aBssH9May
produced exogenously in Qauafitiyyons Carepeugl eTéle
(1) Neurospora (1) AuyCrrevCumym
(2) Alternaria (2) oL iCarflum
(3) Saccharomyces (3) snrssGrrenwden
(4) Agaricus (4) ssrfseav

120. Which one is wrongly matched ? 120. eyl pespral AUTGEELULGNETS 7

(1) Uniflagellate gametes — Polysiphonia 1) gpeps sesdeny - uralws.Curaflur

(2) Biflagellate zoospores — Brown algae Cal(Hser
(3) Unicellular organism - Chlorella (2) @ sasulieyp - LU OSTHESET
(4) Gemma cups — Marchantia @aoGum
(3) em Qs 2 uqf ~ @GGFTIT@JGUGUH
121. Match the items given in Column I with those in 4) Qgubwor Gsrumusdr - TR

Column II and select the correct option given|, o Sipsam_apper sfumer e CsipA505s

below :
I pgid @ I-g Qi :
Column I Column I Asred 1 wppd TS -8 unmss TpEIs
a. Herbarium i. Itisa place havinga Cgres I _ PEUCERY
a. 2.ef L ustu@BssuLL sreury

collection of preserved

plants and animals. sraursQan@uy b dlemiE Cgr@Luser

Qe @)L Lb.

b. Key ii. A list that enumerates b. ApaiGsnd i, ALSHS sremiLGib
methodically all the Simanss HpBleriseer
species found in an area sm&aswren efleuliyL e
with brief description salgw euflengsdlyLLomest

aiding identification. s Ns@IEES 2L UL

¢. SmusT Ausbiil. o afsd WPssrLL
gmeury rglfaer srafled
@U LUl ( eeussiuBn

c.  Museum iii. Isa place where dried and
pressed plant specimens

mounted on sheets are @uib.
kept. d. @ Lamar  1v. udGeup L T&EFTETSMET
. i : A L . L6 ¢

d. Catalogue iv. A booklet containing ?. list sem_Hiu 2.pelb
of characters and their LT SemeTh Bjeubble
alternates which are WIHpISETLLD
helpful in identification of Ul gwellLnul L @ Sp
various taxa. : USSELD.

a b c d a b c d

(1) i iv 1l i (1) i iv - iii il

(2) il i i iv A2) i ii i iv

(3) iii iv i 1 +(3) iii iv i ii

(4) 1 iv iil i (4) ii iv iii i

HLAAC/LL/Page 27 SPACE FOR ROUGH WORK English/Tamil

!. j



—_—————— __—”

122. Niche is 122, GuerIuITmiE erenLg)
(1) all the biological factors in the organism’s 1) sWfasdear sHD GRO® 66T @SS
environment 2 9w wHgb @ubdue sryelser

2) sufand srer arpd ewflued O
o @Au® Heowsada eifms LLETUHSZID
ailzib

(3) e uiflend QUM(PLD QL sdle T

Qeweadum L UkiE

(2) the physical space where an organism lives

(3) the functional role played by the organism
where it lives

(4) the range of temperature that the organism

gels b rm (4) o@fend eunps GCseeuwirer U LGleul LI
123. Which of the following is a secondary pollutant ? ai&s
1) Co 123. &psamcupgier @rarLmb flene W& ergl ?
(2) COy (1 CO
(3) Og (2) COq
(4) 80, - @3 Og
(4) SO,

124. In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and

P el 124. Spsem_  safomsefle  GwiG 7 GLmao@ M

@Csman  fengled Aeenysurs Gawdur

(1) Carbon ppeO&ImMI &G QeuaflciLL sTyeRTOneIE gl T
@ Cl (1)  sriuen
(3) Oxygen (2 Cl
(4) Fe (3) sadlgen
) (4) Fe
125. World Ozone Day is celebrated on 125. o.ws gGsrar Hard Qar@r_TL LU eus)
(1) 5™ June (1) 5 ger
(2) 21% April (2) 21 guged

(38) 22 qured

3) 22" April
(4) 16 Qelbum

(4) 16 September
126. Spsan sreisandiBhs aia@mSLTEr @@rﬂmmﬁ

126. What type of ecological pyramid would be smby QupLL@D ?
obtained with the following data ? @reim_mb Heve matGaurt : 120 g
Secondary consumer : 120 g e Heow psiGaunt : 60 g
Primary consumer : 60 g s Heow 2 pusdurent : 10 g
Primary producer : 10 g 1) e@ruQurmeT @l saby |
(1) Inverted pyramid of biomass (2)  <pboed saby |

(2) Pyramid of energy (3) euudiiQurer Gpumer saldL

4) @ sreflsaad ‘
(3) Upright pyramid of biomass 4 | Spgrergees ety |

(4) Upright pyramid of numbers 127. prLrneli( ereLig a5 G&H&ESD |
. : (1) @puiy H&sD
127. Natahty refers to @  Gpoy Adsi i
(l) Death rate (3) G GLH'I'I(.@[_,&E'@GD L{@')L'D g'z@ﬂ &ﬁﬁ&ﬁﬂﬁ
(2) Birthrate GTERTET HENES :
(3) Number of individuals entering a habitat @) e anfigms &ILE fuGh @
(4) Number of individuals leaving the habitat o Wirsefier cremenflse s 1
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128.

129.

130.

131.

132.

133.

134.

135-

The Golgi complex participates in
(1) Fatty acid breakdown

(2) Formation of secretory vesicles
(3) Activation of amino acid

(4) Respiration in bacteria
Stomata in grass leaf are

(1) Dumb-bell shaped

(2) Kidney shaped

(3) Barrel shaped

(4) Rectangular .

Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADH

(3) Oxygen

(4) NADPH

Which of the following is true for nucleolus ?

(1) Larger nucleoli are present in dividing cells.

(2) It is a membrane-bound structure.

(3) It is a site for active ribosomal RNA
synthesis.

(4) Tt takes part in spindle formation.

The two functional groups characteristic of

sugars are

(1) hydroxyl and methyl

(2) carbonyl and methyl

(3) carbonyl and hydroxyl

(4) carbonyl and phosphate

Stomatal movement is not affected by

(1) Temperature

(2) Light

(3) CO, concentration

(4) Oy concentration

Which among the following is nof a prokaryote ?
(1) Saccharomyces

(2) Mycobacterium

(3) Oscillatoria

(4) Nostoc

The stage during which separation of the paired
homologous chromosomes begins is

(1) Pachytene

(2) Diplotene

(3) Zygotene

(4) Diakinesis

| 128.

129.

130.

Cardams o guiLsar Geupdlad ukGehélermer
(1) Qaryiy e fosssn

(2) &ruy eusd CameTnise

(3) =bCarm oifle GeLTEsd

4) ursefursseiie seurddsed

yhselld Gamusgieensar

(1) =2(psms augeUTaTgl

2 &pfrs ageinas

(3)  Suumd euigeUTeTsl

(4) egiToTaTgl

8 poa_eupmid gefl&Caraemsulen gefl eflenamuile
AeerQuImeT SyeLeTSE TS 7

(1) ATP
(2) NADH
(3) 0Oxygen
(4) NADPH
131. &psameubmier 2 | &(HLoewt] GNES oTgl
sfwrerg ?
(1) usuy peLEUDID Qewseafie  Qufiu

o L smuoealsdr sraTiL@Saper.
(2) < O s GRbS SiPLUY.
(3) eyCunGesmb RNA gwrflllen s,
(4) evbamge Gentp Gg,ws&rgjmﬁd) LIS
cubl&dlampent.

132. sissansafian G SpLLimer AanensQsn@Sser

(1) m@;f_n’rréséleb HmID Qngdle
(2)  arrumad whpb CnsSd

(3) smirueaTe WHDILD anL_ sl
(4) sriumare WHDID ume G

133. Geasgeamer QuESD @ genmed LrliLienL aigleene

134.

135.

(1) Qeauuu flewe

(2) gefl
(3) CO, Qsfley
4) 0, Qedlay

& \paeirL_eubpieT LGrramfiGum’ Syebenssl gl ?
(1) enssCrrenwdav ]

(2) & Camungeflun

3) floaGLmfur

(4) prevLTé

Ggmg Coips P55 &CrrGunGembaer Gl
< TS0 fHlene

(1) urélesn

(2) wuGenrest

(3) esGamee

(4) L LITen&en Sl e
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136. The volume (V) of a monatomic gas varies with

its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

i
T

_..-’T

(D

(2)

(3)

(4)

o =3 w|ee | bo
o

137. The fundamental frequency in an open organ

pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

.

136. @©n @DOD e amyefer ume (V) wrpuTE

opar  Qauflaoud (T) Qumrmsssmer
auerCar® UGS STl LLul @erergl. LSS
foo A Gdl@mbs! feoew B p@ wmmbd Gungl
aumyederned GantiuCL CaamasEh, Sigarmd
o " seugiiLl L QeuliugSh@Goner 66

T

O —> T |
6)) % |
@) % |
@ = l
@ —1?: |

i

. @ Hpps piser Gruden SigliLeL 28 rQeuert

s GO (Pl SIS @GP QDS
Sfavsd@s SWLTGD. PR pTHET @prudlen ﬁﬁeﬁwﬁ

(1) 13:2cm 20 cm, erafldd, s iseT GPTUia Herid
(2) 8em (1) 13-2cm
(3) 16cm tg; 2612111
cm
(4) 12:5cm @ 125cm
138. At what temperature will the rms speed of ; Qaiit S . ; :
oxygen molecules become just sufficient for ; ﬂﬁ Qe m-l_luﬂ@g’gu{_%g %fjﬁ?.m@ g”pzf:ﬁ oo
escaping from the Earth’s atmosphere ? é IS =L e
icen usSmsL LD
Hogen - 96 (<6856 apev&gadlen Hleann (m) = 276 x 1026 kg
Mass of oxygen molecule (m) = 2:76 X 107" kg CLndr euBwer wrhed kg = 138 x 10-23 JK T
Boltzmann’s constant kg = 1-38 X 1075 3 K Qar@asruC Berers) ‘
(1) 2508x10*K (1) 2508 x10*K ,
2) 8360x10°K @) 83860x10°K
@) 1254x10°K @) 1254x10*K
@) 5016x10°K @ 5016x10°K
139. The efficiency of an ideal heat engine working if:f;ﬂ & i@ﬂgﬁfgi Qiiﬁjgi @Méa ﬁgﬁ
?ve::veie;:; the freezing point and boiling point of Q muu%m;ﬁ Srider Hpen ) '
1 06-8% (1) 26:8%
(2) 20% (2) 20% |
(3) 12:5% 3) 12:5% |
(4) 625% (4) 625% :
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140. A carbon resistor of (47 + 4-7) kQ is to be marked

with rings of different colours for its

identification. The colour code sequence will be
(1) Violet — Yellow — Orange — Silver

(2) Yellow — Violet — Orange — Silver

(3) Green — Orange — Violet — Gold

(4) Yellow — Green — Violet — Gold

141. A set of ‘n’ equal resistors, of value ‘R’ each, are

connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘m’ is

(1) 10

(2 11
3 9
(4) 20

142. A battery consists of a variable number ‘n’ of

(i ]

identical cells (having internal resistance
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs

shows the correct relationship between I and n ?

I.___
(1) T
@) —1n
I
(2) T i
0 —1n
I
(3) T i’
0O —n
I
@ 1
O —n

140. g sriudr WeangeL (47 = 4'7) kKQ perg iga

141.

142,

wHlieu s HlusHEns  cueTam  UEETWS
GHBLE e wretd  @LliLL(éTang. @aern
aaners @O O eaflensssl b

(1) eargm - WEHEET - TEsE - Geudrafl

(2) iDEREeT - DEIBT - UTEHS - Qeueraf

(8) uFms - TEHE - saEm - Qurearafipd

(4) @peT - LFas - sagT - Qurenafpid

s Haser ‘R Qsrar_ ‘n-erarenflsamsulener
BerseLser Qgr_t Goearidd R wsbldga
QaranLgd ‘B ety emf Qsrerigioner Wler

sasgLa  GQoanssliuBSng. @dle  umyb
WenGerm b I 24B1D. @uGunpsl
‘n’-eresrentlé&ens uflemen BlengenL_&eT <2iGs

WensasgLer Lss Gl @eamssliL e
urws BaGarmc L 10 1 élpg eafléd ‘n-er

iy
(1) 10
(2) 11
3 9
4) 20
em Hasag Qsr@uurarg MU cramaniisans
‘n’-QaramL LBl Ghs eI eTE Qs rem(HeTers).

)

(euQaunandlen sisilasenL Wb T QeramLgl).
oma QAsriir @eamidd @eansaiL(HErerar.
Barsas Oam@idear wpeenser gendlanamss i
BenGarmi_Loreng 1 Serésiu@Spg:. Seramd

awrCstigd by gem 1 wpod  n-HE
@eor Cuurer sflwrer Agm_irou srardsdpg!
I___
w 1
0O —»n
1
(2) f i
0 —n
I
(3) T /_’
0O —n
I
(4) TC
6} —>n
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148. An em wave is propagating in a medium with a

144.

145.

= A
velocity V = Vi. The instantaneous oscillating
electric field of this em wave is along +y axis.

Then the direction of oscillating magnetic field of

the em wave will be along

(1) -z direction
(2) + z direction
(3) —xdirection

(4) -y direction

The magnetic potential energy stored in a certain
inductor is 25 mJ, when the current in the
inductor is 60 mA. This inductor is of inductance

(1) 0138 H
(2) 138:88H
(3) 13-89H
(4) 1389 H

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 45°
(3) zero
(4) 30°

146. An object is placed at a distance of 40 cm from a

concave mirror of focal length 15 em. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 30 cm away from the mirror

(2) 36 cm away from the mirror

(3) 36 cm towards the mirror

(4) 30 cm towards the mirror

143.

144.

145.

146.

em LBesms oo @n o ssdar afGu
P\; =vi SansCeussder LTaEng. iHss sASSD
Bersmps @oudar  flanjon  +y D
Siwoandpg. afld. Siaapib STHEL! Legser
Slens

(1) -z feagled

(2) +zFosufe

(8) —xgawsule

4) -y daslle

em WOagramguie Csaflssuuc@der  &Mbs
feowrppd 25 md, Beagramguid WarGerm b

60 mA erafle, Wengnam.eSler &L

(1) 0-138H
(2) 13888H
(3) 13:89H
(4) 1-389H

@@ puulLsl Qurmeller gafleilesed eredm v2
hgd aptiut L ssHer Camamid 30°. Geuetafis e
Qasran® uulLssflear @m galaflosd Uiy
o Lupwrs  Qpowrs  wrppruGEng. el
saewlsran. gefldshon gern (PULILL&SSl6
wh@Aprm usssdHer PG ca@Bmell @5
afCu Ambudlpg. (eeliysfle Grdudssen)
Sigar ULl L ssden Bgrer LEGsTaLD

(1) 60°

(2) 45°
(3) &4
(4) 30°

15 cm @elwssnmd Garam. @ &g uiledlmbal
40 cm Ggrevaeiles GuTmET eneussLIL(HETaTg).
Sqeowu Gpréflu Hoslle Qurmemergy 20 cm
Ggrenaeiis QibugSer
@Lutuwrey

BSTSSILILLITED,

(1) <@d@os 30 cm dadlEbswgib
(2) <guldimhg 36 cm elledlEbsdaid
(8) = Cprsd 36 cm Crrsdl QHEEL
(4) <=qCprsd 30 cm Crprsdl @mEED
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147. The ratio of kinetic energy to the total energy of

148. An electron of mass m with an initial velocity

149.

150.

an electron in a Bohr orbit of the hydrogen atom,
is

[ 5 s Fs |

2 1:-1
3 1:-2
4 2:-1

=¥ A

V=Vsi (Vy > 0) enters an electric field
- A

E =-Eji (Ey = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

(1) l‘fﬁ

]

ran
eEO

2) Ayl t
( J {}[ - mVU }
3) A
@) Apt

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5vy, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to vy is

a 12
(2) 1:4
3 2:1
4) 4:1
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 20
(2) 10
(3) 15
(4) 30

148.

149,

150.

147. aapgyser sgmeiler @wm Gumi sphlaedrer g

agQasgrefler  @uss Grss

BODYISG LTS 556,

24 DDANSESLD

(1) 11
(2 Fo=1
3 1:-2
4 2:-1

m-Hleop@arar_ g crlas e,

_>

V = Voi\ (Vg > 0) arep gleusas SloveCousgsle,

_._}

t =0 floaule, E =- Eog (Eq = wmiledl > 0)
Blerassayer meowdng. geusssdd Ay erarug
ellyréell siemafaid aaflw, t Crrsde wuryées)
stenaferid

1) —}Q.__

ek
oY Xl et
(2) 0[ mVOJ
@) Ay
@ Ayt

2vg siflitdeuar Qareami. (vy ererug Lwer Ggm_ss
SifiCeua) gafl @m 2Cors ssiger Bg LG
Curg, eWpuuPL Qeslrarsafear QUL
SwsCasd v; L@sHfer ofiCeuar 5v, Sierey
sfsfsstiucimd, 265 ssluar BEmps
2 Blptiu@b st rrersafar QU@ HamsCasid
Vg, @afléd vy el Bbgl Vo herer efldlsib

(1)
(2)
3
(4) -

e sdflussd QurmEns@ @7 Qwer smelb
10 flfruser. glaibssdle @mbs iembsmbasemer

ramanfidans 600, eraflé®w, 450 <2\ G E & (TS 6T
flangaip @b st (Hflsdd)

1) 20

(2 10

(3) 15

(4) 30
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151.

152.

153.

Unpolarised light is-incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected and refracted
perpendicular to each other. Which of the
following options is correct for this situation ?

rays are

(1) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(2) Reflected light is polarised with its electric

vector perpendicular to the plane of
incidence
(3) i=tan_1(l]
M
@ i=s'm_1(l]
m

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 1-8mm

(2) 1:9mm

(3) 1'7mm

(4) 2:1mm

An astronomical refracting telescope will have

large angular magnification and high angular

resolution, when it has an objective lens of

(1) small focal length and large diameter

151.

152.

153.

W gelldflasd aar@aram. sogar LTIEer B,
sTHNAGmhs @B serali@aapt @aluBADS. SO
@HudrL u@ECsmard T-é Grdudiiy s
AaGedmd eansdsran CsmEGssTs OO

samL_Mwrin@Ensg. B)psé GLhHlawss,

Qerumeuareuh e ehss sabn sTwTarg

(1)  Qrdlueiiiy aafl T Wlerarflwicd
QeusL(pLamar LBsaESDE Gewenmsudie
serallenememid

(2) Arduediiy gafl 2| H6i 1Sl ebrent wied
QausLrmpremenr  LEzaSADEG OehEss)

Savsuller getellenareymid
3 i=tan’ (1]

p
) i=sin"1(l]

H
em wi Qe G LAGerg@meanude
Gerays@pse @ertult d e 2 mm,
LweUESsILED @efliflear seafen ) = 5896 A
wHgd  Sers@d  Seesse e’
Ggrevewa; D e wduy 100 cm. sceTuRisater
Ganewr 2iseb 0-20° a@g:?. wpgs D «dulps
Caranr ossms 021° ee =Hslss

Gerays@Epé@ @ uulL dsreaadia Sseawune
WIHOLD

(1) 1-8mm

(2) 19mm

(3) 1'7Tmm

4)

2-1 mm

em araflud galdasd Gsree Czradurag,
ofs Garam e @mLAU@mEswn, swi  Camer
Qanamg(pés, =sar CuUTBET(HEG

Fa T2 T e LD

dléanewiangi

(1) @opss Gelusgmd womd =gs eliLbd
Qarewrigmés Couan(BE

_"*:;___ 5?1uJ G:SI]I_I_.LD

(2) =fls GelwusgD
Qarariy.(hés Ceusr(Bo

© (2) large focal length and small diameter (3) ©@ppp GAUsEMD LHDD E@ES LD

(3) small focal length and small diameter Gapeig gpha CAlespOl
4) @fs GAusgmb woHpd =bs eflld

(4) large focal length and large diameter Qs b Gaidu(id
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values of Ip, I and B are given by
20V

(1) TIg=40uA, I =10 mA, g =250
2) Iz=25pA, Io=5mA, g =200
(3) Ig=40pA, I =5 mA, =125

(4) Ig=20uA, Io=5mA, B =250

due to heating

(1) affects only reverse resistance

(4) does not affect resistance of p-n junction

Bas

154. In the circuit shown in the figure, the input|154 %G@@&w@muun.@mm
voltage V; is 20 V, Vg = 0 and Veg = 0. The

In a p-n junction diode, change in temperature 155. @@ PP

In the combination of the following gates the | 156. &Gy
output Y can be written in terms of inputs A and |

smhble, 2 aret(®

LIS‘GUTGUT@&;gLD {V) 20 V VBE = 0 wpmd VeE = 0.
20V

1) Ig=40pA, Ig=10mA, 8 = 250

@) Iy=25pA, [o=5mA, p=200
(3) Ig=40pA, Io=5mA, p=125
@) Ig=20uA, Ig=5mA, p=250

FhHeoL Cumg e, Qautiuiu@ssd]

LPasTd ghu@d Qauriuflene WLIHOD
1) Hmndu WearpeL-ou oL Hb urSEEd

(2) affects only forward resistance 2 (ﬁngiggﬁ‘ﬁM WlenLgevLemid LIECEY
(3) affects the overall V — 1 characteristics of 3) pn spBuddn QGO V-1 udmduene
pn junction LB @

(4) p-nepHufen Henge @ LTS&ESTE

QsrH&sLHerer sissaumie  &OO

Siewlide, e dretHseT A mg_)g:m B panen sfluimer

Qauefi® Y
A A
B v B Y
(1) A.B
@ A.B+A.B W A.B
(2) A.B+A .B
3) A+B
3 A+B
4 A.B+A.B et
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157. Current sensitivity of a moving coil galvanometer

158.

is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q
(2) 25Q
3) 5008Q
(4) 250Q

A metallic rod of mass per unit length
05 kg m? s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0:25 T is acting on it
in the vertical direction. The current flowing in
‘the rod to keep it stationary is

(1) 714 A

(2) 598A

(3) 1132A

(4) 1476 A

159. An inductor 20 mH, a capacitor 100 pF and a

160.

resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the eircuit is

(1) 079W
(2) 043 W
(3) 113W
(4) 274W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains

157.

158.

159.

160.

em Quirg et srdeGerm 5L MAer
HenGarm L z.eamitey mUiwb 5 divimA wpmib
Bemanpss oamia mrub 20 diviV o eefled

srebeuCan 8L L Mer Wesent

(1) 40Q
(2) 25Q

(3) 500Q
(4) 250Q

@t g BasdpE 05 kg m™ HapQsrar_ @
2 Canss s qern, fenLol i FgLer 30° smilesd
CaramsamssOamam_  eupeuplLITar FTUSETSSI6
Bg dLssuu_@ererg. sllurerg SGpeupssmod
Bmes, Qem@sm Heosda 025 T asmpsu
LeosgranLd Gewou@ssiuc®, igar afiGu
BlenrGarmi (b umybuy G@siwtiu@dpg. erafie,
sfleow Bpasrmod Heoowns oaSHHES D6
aufGu umuyb BlenGarmi it

(1) T714A

(2) 5-98A

(3) 11-32A

(4) 1476A

e Wargramg 20 mH, @@ S&atCsss 100 pF
wHmh @m Waswm 50 Q =foe
@mmuéﬂe‘u emf V= 10 sin 314 t -§ e Cu

Qs

2oy

(1) 079W
(2) 043W
(3) 113W
(4) 2:74W

g Hasmks  soe @ =

OFhiGssTS Gloeadlw &7 =ThE5E5L0
meuss UL (Rearergl. Wlemanhs HerCesTiLTaigl
Sigiodssiiul L g, @eLnl: sss0 Leosdld
ardliT aan;r,gasas@ CuaCpras seeriu(G@pal.

gaGal sflwnarg mily Safes LHpeL

waasmsda Cu

gravitational potential energy. The work Qupflpg. Bspe Cseawre Caswow Gealu
required to do this comes from S[Hegl
(1) the current source 1) flen @mm‘
(2) the magnetic field (@) gl N
(3) smhsl Yy wrppsHeTred e OUED
(3) the induced electric field due to the Sdrijents
hangi tic field
e (4) s fQsuwiul (erer Qur@efias
(4) thce1 lattice structure of the material of the ek Srene) s L oW
ro
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161. A tuning fork is used to produce resonance in a|161. @ saramTiyéd Gurid gsflasme qﬁ;u@g@ &(m
glass tube. The length of the air column in this Qesssoa LWELESSULGEADE. 6 QUEE
tube can be adjusted by a variable piston. At samaL_sQaran® @Gmdgier o6 STODHIS
room temperature of 27°C two successive HibLISS e Baseos sRAQFtIwTLD. 27°C
resonances are produced at 20 cm and 73 em of Qauit G N
column length. If the frequency of the tuning fork &%ﬂ;mf I;:f m;(; :)m i él(iﬁﬁ%ﬁgim @;m@
is 320 Hz, the velocity of sound in air at 27°C is PR poip s Berggle

2 meunssLLGEADS. Glensssmauuien 218Gl eu et
(1) 330 m/s 320 Hz erafl, 27°C @ galller dewsCaisnneng ?
(2) 339 m/s (1) 330m/s
(3) 300m/s (2) 339 m/s
(4) 350 m/s ) S0lmis

(4) 350m/s

162. The electrostatic force between the metal plates |162. Q Wengyr' Lib whpd A urly Gameom B enemr
of an isolated parallel plate capacitor C having a 560 NeGssdder C OAssLLL Garer Gran®
charge Q and area A, is ssdsEns® G Gu sraruuBbd Hleva Wereflwd
(1) independent of the distance between the Seswnans)

plates. (1) sa@sEpsE oL LulL Agrawamal
(2) linearly proportional to the distance FITTSHS).

between the plates. 2) 5505EREE @aL Ll Qarenaadh@
(3) inversely proportional to the distance Gpilwed &g CUTGBSSPDL LIS

between the plates. @) ﬁa@fﬁ%—b&% @er oL GgrevdihE
(4) proportional to the square root of the @) gf(;%@i@ g—gﬁ iﬁﬁfgﬁmw s

distance between the plates. Bl @ elass QUIGSSLPLIS.

163. An electron falls from rest through a vertical [163. &ymen  pDID Qsmgpsrs  CuoaGprédu
distance h in a uniform and vertically upward HavsGarar g@ Weayob E &, @6 erolaasL e
directed electric field E. The direction of electric was  euafooddmss  Cemessrs h
field is now reversed, keeping its magnitude the Qzrenaay EGup Apdma. @ueureps
same. A proton is allowed to fall from rest in it Bemosder  ere)  SiUugGw aeussIUL®
through the same vertical distance h. The time of Awsol (b HEUuLuGEps. @G UG
fall of the electron, in comparison to the time of sarg Benasdaier <Gz 2w h oerefine
fall of the proton is £Cy aflpomm QaliutuGEng. eTaTleh
(1) smaller aQaa grer A Cor Sietey YGymLrer aflgpid
(2) b times greater Gpy SiaTe ar GUALLTE

_ 1) afwug
(3)  equal (2) 5 wLkiE Quilug
(4) 10 times greater (3) swwrarg
) (4) 10 g Gufluig

164. A pendulum is hung from the roof of a|jg4. Geewewner swyepeter &gl Sdlen amenTuden
sufficiently high building and is moving freely to 2 QS mhHS! ) STFOTETE]
and fro like a simple harmonic oscillator. The Qsmsel_nur Gaas LHDD DS SO Eflans
acceiergtion of the bob of the pendulum is SwolupfCurd apargd Gagid Guouns
M W a1 2 Hsme of 5 ™ fHom e wi HHLBPTY LS,  §ed Qanaule b
position. The time period of oscillation is 5m Gsraadd susd LS WEESLD 20 m/s?
(1) 2ms arafle, si@aa Cryw I
(2) =s (1) 2ns

2) ms
(3) 1s 53; 13
4) 2s ; 4 2s
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165. The power radiated by a black body is P and it 165. @@ Z@m@m(@?ﬂm ﬁiﬁﬁm@ sdndits P@ﬁ mﬁ@m
radiates maximum energy at wavelength, A If Sl UG %[D,mma) o s@apmsio SESpg.
smbQurmeflar  Geuliuflaaou, g GlLigmo
the temperature of the black body is now 3 N e .3
; 3 - Seb ;
changed so that it radiates maximum energy at BB g 20 el % e
wavelength glg, the power radiated by it orpfleme, wyppe sdieiss P adpTEDE.
4 erafled, n-eir LY
becomes nP. The value of n is 3
@ 2 L
: e
2y =
@ = 3
: O
(3) §§51_6 256
@ 22
@ 2 81
_ 166. Gy Qupetlarmed GalwriuL Qe(n sblser
166. Two wires are made of the same material and @Qr SieTey Ly(HLOET QarerTL_gTsad o dreTer. (P
have the same volume. The first wire has spdfer  EDEEQa@UUIIY A bHDD
cross-sectional area A and the second wire has @ren_raig sLAGE EEEAIBULTIY 3A
cr_oss-fsec'twnal area 3A. If the leng:th of the first 2@, (s® SO dn Baseos Al ey o fass
wire is mcreased- by Al on applying a force F, opar By ws F Qeuou@ssiLGaps el
how much force is needed to stretch the second @ : o
. par_meug  sbfeuyd =Gz ey Bl g &8
wire by the same amount ? c
606U LG eflensuller ey
(2) 6F 2 6F
| 3) F 3 F
\ (4) 4F 4) 4F
| 167. A small sphere of radius 7" falls from rest in a 167. Y-y G]a?“m‘— 20 _‘l’ﬂ'@l’" Gaf”mmr_rm@ Ghey
viscous liquid. As a result, heat is produced due «’5‘6".@“9}“9@&@ Sy KD .@FIGUQ@@J@T Qﬂ(&?mf@l
to viscous force. The rate of production of heat Qeiwcu@apg.  @sen  edleneTaured LMo
when the sphere attains its terminal velocity, is Aws@amed Qaunund o @ardpg. Csraroreag
proportional to woaws HosGaussims @ yburg Geiliu
1 2 (eurés cip eifisl GUImSSD
@ 1 @
4 2 r
(3) r W A
r
4
ke B (4) r°
168. A sample of 0-1 g of water at 100°C and normal | 168. 100°C &, @uicdrime Siapssda (1013 x 10° Nm™2)
pressure (1-:013 X 10° Nm?) requires 54 cal of sgrer 01 g wrdfl Beoy <gpellwrs wIHD 54
heat energy to convert to steam at 100°C. If the sCemisE 100°C Gauiu Ho® GzaeuiLGADS!-
volume of the steam produced is 167-1 cc, the @é@ 2 pusdwiren %59”5_15‘“ Leoar 167-1 cc
change in internal energy of the sample, is aaflo wrdfder is 2P LIHLTE
(1) 104:3J (1) 104:34J
(2) 2087d (2) 2087d
(3) 845J (3) 845J
(4) 422J h 4) 4227 \ 0 )
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169. A body initially at rest and sliding along a

frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B
I
A

w)

(1)

(2)
(3)

=,

(4)

or=1 i=lon O wojew

170. Three objects, A : (a solid sphere), B : (a thin

circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ® about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wg>Wg>Wy
2) Wo>Wp>Wg
(8) Wor>Wg>Wp
(4) Wg>W,>Wg

171. A moving block having mass m, collides with

another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 05
(2) 025
(3) 04
(4) 08

172. Which one of the following statements is

incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Limiting value of static friction is directly
proportional to normal reaction.

R

169, geussEH® gafeouigierer @b Quin@peTrengl

170.

171.

172.

h'&mﬁgﬁﬂﬂ@ﬁ% o prQUbD LTSSl (uLgdled
S wieurm) Bpwd @0 Qerygsgnen @l
sheop Pasipg. GILLE spPien efiL b AB = D
erafle, 2wird h H@ swTETS

: B
‘ A

D %D

@ D

(3) %D

@) %D

ppangl GUT(HETEET A (g 8L Gamerd), B : (@G
Quadiu el al@®) whpd C : (@ e
cumenutd) @aQaurend Gy HiETey fleop M
opmd <y R Qan@r_ealum@d  S0EET
asevatiupd @Gy Semay CanamdlemasGaisd -
sip@fapar. eiHamp guejesE Carear®d
aumeushE Gaeeuwirar Cama oarey (W)
wduieu yisSasiiespsmer Qg iy

(1) WC>WB>WA

(2} WA>WB>WC

(3) WA>WC>WB

(4) WB>WA>WC

m-fep@sram.  HEBD Qsreuy @dm  4m
Herp@srer_  Hlowuns o grar QamEeudar 1S5
Corgdpg. Cora@sSu Qe Hlepp@GenpeuTe
QsrEly euefonsd amdAng. Hen@oparer
ng@asﬁ‘im eSS fewsCausd vV eTEnle,
Ao fs @amsd (e) & iy

(1 05
(2) 025
(3) 04
(4) 08

Geaumd snpBled gl SIS
(1) e meEsb e gmie) aEpsED
o FTLEaISSTL i@ SDILIS.
©2) Paoe 2ymieier ayby i CpiESs!
erdlrellenens:@ Cpireddlsl QUIGSSLPOL-LS!
(8) aps® 2mials GETSHD Bar D@Gs@aTE

(3) Coefficient of sliding friction  has Qerar_g).
dimensions of length. (4) soymia elesunag sy QuUESSDS
(4) Frictional force opposes the relative motion. TP G &S IG LIS
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173.

174.

175. A solid sphere is rotating freely about its

1786.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
Ks, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1)
(2)
(3)-
(4)

KA}KB‘)KC
Kp>K, > K;

A solid sphere is in rolling motion. In rolling
motion a-body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K, : (K, + K,) for
the sphere is

(1 7310
&) b5:'7
8) 2:5
4) 10:7

symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity

(2) Moment of inertia

(3) Angular momentum

(4) Rotational kinetic energy

If the mass of the Sun were ten times smaller

and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

173.

174.

175.

176.

“

Gfluewes spflampd Bara L iuresdld @
Ganatler @Quiss o A, B npgid C Heoasefon
wpeopbu K,, Kg wppgid Ko =i@n. @fwer
uLgdle sriguern S- fAoalld @nmssn Curg
AC aerug Quilu sisemayb SB yerg AC-hs
Cpit GdsTseb 2 drang

E—

(1) Ky<Kg<Kq

(2) Kp>Kg>Kq

(3) Kg>K,>Kq

(4) Kg<K,<K;

@m H & GCorawrers s Sosssdd
2 dteTgl, 2 (HEHD QUEsESE. @F Sunsarag
@LiQuuire; Qués gybpe (K) stos sppd
Quss gyppo (K) @Qremer o =CzCrrsde
GubhHl & @ LD. erefled, £ ESsreadhsnen
K, : (K, + K,) goay

(1) 7:10

(2 5:7

3) 2:5

(4) 10:7

==zl upHh

@ SlsCanearonarg ser soafs

slgdor Geefllleds sasftessiss spadpg.
=g flevperwl LIHOTOSE =& =5 Wl [
<flsflésluu@dng.  ealla £ s isTaisensll
GummSSLOL Ig 6D Heraaaafs< ahs
Quplwe srreflurerg wrprse E=ss0

(1) Csanrenr HensGeusid

(2)
(3)
(4)

Smusdpen

Gsmemr 2 Bs1d

&HE QuIss oHned

Gflweflen flenpm LssH wLAE S@mersan, mirly
wrled LgH WLEEG aFscrsent saeiligd
B mpsre, Geraimbd amhild ¢ Samrars

(1)

(2) Walking on the ground would become more wenpsgiefisdr Caswrs Sdntss
difficult. (2) seonlie pLiiug fsaus Sracss E@sEL0.
(3) ‘g on the Earth will not change. @) yeflugiuden By ‘g-er wSies smnes
(4) Time period of a simple pendulum on the 4) ydiler gafl casellen sea =aac Crpb
Earth would decrease. (HEDUILD.
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7. A student measured the diameter of a small steel | 177. @5 wremrauf Berfipparay 0:001 cm Qaram HmG
ball using a screw gauge of least count eTelleowsd Qasrar®. @ S @Y GaTiq e
0-001 cm. The main scale reading is 5 mm and AL sms sersdpri. HHE erefller epw
zero of circular scale division coincides with Sjerey wH 5 mm wHHD GILL HeTey 19 MeSl e
25 divisions above the reference level. If screw sfwrars GuopGardr L 8@ 26 GflasEsss
gauge has a zero error of — 0-004 cm, the correct Gué  @mrdlamabgdrarg. Hme  lere
diameter of the ball is - 0:004 cm &0Gmy Qarer g eraild, @eriar
(1) 0521 cm sflwmen el ib.

(2) 0-525cm (1) 0-521 cm
(3) 0-529 cm (2) 0-525 cm
(4) 0053 cm iy " A A (3) 0-529 cm
/8. The moment of the force, F =41 +5) — 6k at (4) 0-053 cm
(2, 0, — 3), about the point (2, — 2, — 2), is given by |178. yerefl (2,0, —3) &, yerefl (2, - 2, — 2) RLALT®SS,
A A A
A > —> A
(DL =B Tk Aans F =41 +53'\—6k perer 2 hsEass S(Heg
- i b A A A
(2) —-4i-j -8k (1) -8i-4j -7k %3
A A A o I A
3 -71-4j -8k @ -4i-]-8k
@ -71-87 -4k ol Tt -
— -_ — A A A
i-8j 4) -7i-8j -4k

79. A toy car with charge q moves on a frictionless -
horizontal plane surface under the influence of & 179. 5'7“‘”_ e jeid E ér gréspHlared 4 \Sengpr L1
uniform electric field E . Due to the force gE, QGsreim. @@ Aumbeno irrwm@ e pmileipp S ger
its velocity increases from 0 to 6 m/s in one urter g pedps. g B eestarme 1 dems sme
second duration. At that instant the direction of sy siper HosGasd 0 Amps 6 ms DG
the field is reversed. The car continues to move £ eI R é‘fﬁﬁmmﬁ?ﬁm Lﬂﬁ’%‘”?@w gz
for two more seconds under the influence of this Lrdp 'f”_'@‘ﬁm g @b Uosdar ?”é"&igﬁ - &"W?@

) @smibg Cuogibd Qe eflemmgser paSngl. erefle 0
field. The average velocity and the average speed Sps 3 Aemysaisd snfiar sms SersCausid OO
of the toy car between 0 to 3 seconds are synafl ederay
respectively (1) 2m/s, 4m/s
(1) 2m/s, 4m/s
(2 1m/s, 3mis @) Lmig, Jms
(3) 1-5m/s, 3m/s (3) 1-5m/s, 3m/s
(4) 1m/s, 3:5m/s (4) 1m/s, 3:5m/s

0. A block of mass m is placed on a smooth inclined | 180. m-flepQ@snan._ GsMGUY G 0-smizeysGamerTd
wedge ABC of inclination 8 as shown in the Qaner. ABC eerp  eupeupliumer  STLSeTSSle
figure. The wedge is given an acceleration ‘a’ Bg @ausslILLHaTarsl LILSHD ST LUl (heTerg).
towards the right. The relation between a and 6 FTUGETOTEIE  GULILIPOTS ‘@ feTey WwH&sb
for the block to remain stationary on the wedge Qsr@Rssuudng.  OsrEUl FmusaTss embg)
is Peoowrs @muusbsrer  a wHpd 0 O

A @err CGuuwimer Qgmri]
& A
&
a
/8 a
(& B ——6
C B
1 a=—°2 .
cosec 0 (1) a=
g cosec 0
(2) a= __8
i 0 (2). a= e
(3) a=gtanB (83) a=gtan®
(4) a=gcosB (4) a=gcosB
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